UGC NET 2021 Geography SH2

Topic:- Geog_SH2_Set1_A

1)

Which one of the following periods did archaeoclogists find the evidence of permanent human

settlements?
(1) The paleolithic Period () The Bronze Age Period
(3) The Neolithic Period (4) The Classical Era Period
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[Question ID = 401][Question Description = Q1_Geog_sh2_Set1_A]
1. 1 [Option ID = 1601]
2. 2 [Option ID = 1602]
3. 3 [Option ID = 1603]
4. 4 [Option ID = 1604]

2) The term which describes that population will continue to grow even after fertility rates

decline 1z known as

(1) Demographic momentum (2) Demographic transition
(3) Rate of Natural increase (4 Rate of fertility decline
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[Question ID = 402][Question Description = Q2_Geog_sh2_Set1_A]
1. 1 [Option ID = 1605]
2. 2 [Option ID = 1606]
3. 3 [Option ID = 1607]
4. 4 [Option ID = 1608]

3) Who among the following described geography as the sclence of map making?

(1) Thales of Miletus (2) Strabo
(3) Hecataeus (4) Cladius Ptolemy

faefeiiEa | % Prie = gt 999 & fa5e & =9 5 swe fH?

(1) 4" 475 fafeea 2 ==

(3) =fFzm (4)  FenisE TeH
[Question ID = 403][Question Description = Q3_Geog_sh2_Set1_A]
1. 1 [Option ID = 1609]
2. 2 [Option ID = 1610]

3. 3 [Option ID = 1611]
4. 4 [Option ID = 1612]

4)  Who among the following challenged the theory of origin of species’?

(1) P.E. James (2) De Varies
(3) H. Robinson (4) K.K. Park
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[Question ID = 404][Question Description = Q4_Geog_sh2_Set1_A]
1. 1 [Option ID = 1613]
2. 2 [Option ID = 1614]
3. 3 [Option ID = 1615]
4. 4 [Option ID = 1616]

%) Which one of the following refers to a relationship between a cultural group and natural
environment?
(1) Cultural ecology (2) Cultural convergence
(3) Cultural diffusion (4) Cultural hearth
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[Question ID = 405][Question Description = Q5_Geog_sh2_Set1_A]
1. 1 [Option ID = 1617]
2. 2 [Option ID = 1618]
3. 3 [Option ID = 1619]
4. 4 [Option ID = 1620]

) Which one of the following exert maximum tide producing force on the ocean water?
(1) Sun (2) Moon
(3) Venus (4) Mars
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[Question ID = 406][Question Description = Q6_Geog_sh2_Set1_A]
1. 1 [Option ID = 1621]
2. 2 [Option ID = 1622]
3. 3 [Option ID = 1623]
4. 4 [Option ID = 1624]

7 : ; :
) ‘Save the Silent Valley’ movement, a social movement to save the tropical green forest from

destruction for a regional development project was territorially based in Indian State of —

(1) West Bengal (2) Bihar
(3) Kerala 4 Gujarat
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[Question ID = 407][Question Description = Q7_Geog_sh2_Set1_A]
1. 1 [Option ID = 1625]

2. 2 [Option ID = 1626]
3. 3 [Option ID = 1627]
4. 4 [Option ID = 1628]

8) Which of the following is not associated with structure of a tropical cyclone?
(1) Eye Wall (2) Spiral Bands
(3 Annular Bands (4) Ekman Spirals
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[Question ID = 408][Question Description = Q8_Geog_sh2_Set1_A]
1. 1 [Option ID = 1629]
2. 2 [Option ID = 1630]
3. 3 [Option ID = 1631]
4. 4 [Option ID = 1632]

9)  According to Koppen's climatic classification ‘Amw’ climate is found in

(1) Assam (2) Goa
(3) Punjab (4) Arunachal Pradesh
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[Question ID = 409][Question Description = Q9_Geog_sh2_Set1_A]
1. 1 [Option ID = 1633]
2. 2 [Option ID = 1634]
3. 3 [Option ID = 1635]
4. 4 [Option ID = 1636]

10 : ; : B Al ;
) Who 1z usually given the credit for establishing the validity of the 1dea that there was an Ice

Age during which ice sheets covered much of the Northern Europe?
(1) Jukes (2)  Agassiz
(3) Ramsay (4) W. Penck
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[Question ID = 410][Question Description = Q10_Geog_sh2_Set1_A]
1. 1 [Option ID = 1637]
2. 2 [Option ID = 1638]
3. 3 [Option ID = 1639]
4. 4 [Option ID = 1640]

11 5 e e
) The concept of Lebensraum became popular in the discipline of political Geography after the

publication of —

(1) Making Political Geography (2) Geographical Pivot of History

(3) Cosmography (4) Politische Geographic
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[Question ID = 411][Question Description = Q11_Geog_sh2_Set1_A]
1. 1 [Option ID = 1641]
2. 2 [Option ID = 1642]
3. 3 [Option ID = 1643]
4. 4 [Option ID = 1644]

12)
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(1) East Asia, North America, South Asia, Africa
(2) East Asia, South Asia, Europe. Central Africa
(3) East Asia, South Asia, Europe, North Africa
(4) East Asia, South Asia., Europe. North America
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[Question ID = 412][Question Description = Q12_Geog_sh2_Set1_A]
1. 1 [Option ID = 1645]
2. 2 [Option ID = 1646]

3. 3 [Option ID = 1647]
4. 4 [Option ID = 1648]

13)  The term “Anthropogeographic” was coined by Ratzel in his work

(1) Study of harmonious reciprocal relation of man and nature
(2) Geography of man in terms of individuals and races
(3 Geography of man and his work in relation to earth surface

(4) Organic theory of soclety and state
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[Question ID = 413][Question Description = Q13_Geog_sh2_Set1_A]
1. 1 [Option ID = 1649]
2. 2 [Option ID = 1650]
3. 3 [Option ID = 1651]
4. 4 [Option ID = 1652]

14)  Which of the following faunal groups has the highest percentage of endemic species?
(1) Amphibians (2) Birds
(3 Insects (4) Reptiles
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[Question ID = 414][Question Description = Q14_Geog_sh2_Set1_A]
1. 1 [Option ID = 1653]

2. 2 [Option ID = 1654]
3. 3 [Option ID = 1655]
4. 4 [Option ID = 1656]

15)  What will be the median of the distribution represented in the given graph?
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[Question ID = 415][Question Description = Q15_Geog_sh2_Set1_A]
1. 1 [Option ID = 1657]
2. 2 [Option ID = 1658]
3. 3 [Option ID = 1659]
4. 4 [Option ID = 1660]

16) In which month. the maximum extension of sea ice is found in Arctic Ocean?

(1) December (2) February
(3) January (4) May
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[Question ID = 416][Question Description = Q16_Geog_sh2_Set1_A]
1. 1 [Option ID = 1661]
2. 2 [Option ID = 1662]

3. 3 [Option ID = 1663]
4. 4 [Option ID = 1664]

17) A Free Trade Zone, In international trade, happens to be there, where
(1)  All the participating member countries impose a common tariff on imports from
non-member countries
(2)  All the participating countries allow free movement of labour and capital

(3 Member countries abolish tarff and quotas on trade but maintain independence to

lImpose restrictions on imports from non-member countries

(4) Member countries adopt common economic policies on lssues such as agriculture,

transport. industry and regional policy
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[Question ID = 417][Question Description = Q17_Geog_sh2_Set1_A]

1. 1 [Option ID = 1665]

2. 2 [Option ID = 1666]

3. 3 [Option ID = 1667]
4. 4 [Option ID = 1668]

18) Laminar flow of air refers to

(1) Movement of particles in all direction
(2) Movement of particles in one direction
(3 Deflection in the direction of surface winds

(4) Decrease of air pressure between two 1sobars
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[Question ID = 418][Question Description = Q18_Geog_sh2_Set1_A]
1. 1 [Option ID = 1669]
2. 2 [Option ID = 1670]

3. 3 [Option ID = 1671]
4. 4 [Option ID = 1672]

19) The ‘economic zone' of India from the coastline extends upto a distance of
(1) 112 nautical miles (2) 120 nautical miles
(3) 200 nautical miles (4) 320 nautical miles
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[Question ID = 419][Question Description = Q19_Geog_sh2_Set1_A]
1. 1 [Option ID = 1673]
2. 2 [Option ID = 1674]
3. 3 [Option ID = 1675]
4. 4 [Option ID = 1676]

20) Hydraulic Slope Theory 1s given by
(1) C. Darwin (2 W.M. Davis
(3) W. Penck {4) R.E. Harton
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[Question ID = 420][Question Description = Q20_Geog_sh2_Set1_A]
1. 1 [Option ID = 1677]
2. 2 [Option ID = 1678]

3. 3 [Option ID = 1679]
4. 4 [Option ID = 1680]

21) Who among the following gave the concept of “Unity in Diversity™?

(1) A V. Haumboldt (2) Hettner

(3 C. Ritter (4) 0. Paschel
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[Question ID = 421][Question Description = Q21_Geog_sh2_Set1_A]
1. 1 [Option ID = 1681]
2. 2 [Option ID = 1682]
3. 3 [Option ID = 1683]
4. 4 [Option ID = 1684]

22)
Which one of the following are considered while preparing future population projections?
(1) Crude death rates and their temporal changes
(2) Rate of population increase and future assumptions of death and birth rates based on
past data
(3) General fertility rates and their temporal changes
(40  Age and sex composition rates and their temporal changes
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[Question ID = 422][Question Description = Q22_Geog_sh2_Set1_A]
1. 1 [Option ID = 1685]
2. 2 [Option ID = 1686]
3. 3 [Option ID = 1687]
4. 4 [Option ID = 1688]

23 ; : ; :
) Which of the following map scales would be most useful for study of the details of geographic

features in the landscape of farming community
(1) 1:3.000.000 (2) 1:1.000,000
(3) 1:10.000 (4) 1:125,000
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(3) 1:10.000 (4) 1:125,000

[Question ID = 423][Question Description = Q23_Geog_sh2_Set1_A]
1. 1 [Option ID = 1689]
2. 2 [Option ID = 1690]



3. 3 [Option ID = 1691]
4. 4 [Option ID = 1692]

24 : .
) The range of pH value for unpolluted rain water i1s between
(1) pH4 and pHb5 (2) pH5 and pH6
(3) pH6 and pH7 (4) pH7 and pHS
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[Question ID = 424][Question Description = Q24_Geog_sh2_Set1_A]
1. 1 [Option ID = 1693]
2. 2 [Option ID = 1694]
3. 3 [Option ID = 1695]
4. 4 [Option ID = 1696]

25
‘ Which of the following is not an appropriate strategy used to promote gualitative research
validation?
(1) Peer review (2) Triangulation method
(3 Extended fieldwork (4) Random validation of assignments
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[Question ID = 425][Question Description = Q25_Geog_sh2_Set1_A]
1. 1 [Option ID = 1697]
2. 2 [Option ID = 1698]
3. 3 [Option ID = 1699]
4. 4 [Option ID = 1700]

26 : %
) Which one of the following 1s vastly absorbed by the ocean surface?
(1) Visible wave radiation (2) Medium wave radiation
(3) long wave radiation (4) Ultra-violet wave radiation
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[Question ID = 426][Question Description = Q26_Geog_sh2_Set1_A]
1. 1 [Option ID = 1701]
2. 2 [Option ID = 1702]
3. 3 [Option ID = 1703]
4. 4 [Option ID = 1704]

27)
Who among the following scholars applied the formula PI = 1}' = where PI = Agricultural
n n
productivity index; Y = Total production of selected crops in unit area: ¥, = Total production
of the same selected erops in the country; T = Total cropped area of the unit; T, = Total
cropped area 1n the country for measuring agricultural productivity level.
(1) Bhatia (2) Enyedi
(3) Weaver (4) Shafi
frafafias @ ¥ o fagm 3 1 semesa =0 @ 2 o PI:YEITE =1 A T 2, SEf PI = 3
n n
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[Question ID = 427][Question Description = Q27_Geog_sh2_Set1_A]
1. 1 [Option ID = 1705]
2. 2 [Option ID = 1706]
3. 3 [Option ID = 1707]
4. 4 [Option ID = 1708]

28)
Northward slopes remain forested in mountainous areas due to
(1) Radiation intensity (2) Sensible heat
(3) Diffusion of heat (4) Rayleigh scattering
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[Question ID = 428][Question Description = Q28_Geog_sh2_Set1_A]
1. 1 [Option ID = 1709]
2. 2 [Option ID = 1710]
3. 3 [Option ID = 1711]
4. 4 [Option ID = 1712]

29)
Which one of the following states/U.T in India have recorded high decrease in infant
mortality rate during last 3 decades.

(1) Jammu and Kashmir (2) Uttar Pradesh

(3) Tamil Nadu (4) Madhya Pradesh
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[Question ID = 429][Question Description = Q29_Geog_sh2_Set1_A]
1. 1 [Option ID = 1713]
2. 2 [Option ID = 1714]
3. 3 [Option ID = 1715]
4. 4 [Option ID = 1716]

30)
What 1s known as ‘Fossil water™
(1) Connate water (2) Meteoric water
(3 Plutonic water (4) Juvenile water
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[Question ID = 430][Question Description = Q30_Geog_sh2_Set1_A]
1. 1 [Option ID = 1717]
2. 2 [Option ID = 1718]
3. 3 [Option ID = 1719]
4. 4 [Option ID = 1720]



) In which of his book in 1919, Mackinder rechristned his concept of ‘Pivot Area’ as ‘Heart
land’.
(1 The Round world and the winning of peace
(2) Foreign Affairs
(3) World war and Geography
(4) The Democratic ideals and Reality
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[Question ID = 431][Question Description = Q31_Geog_sh2_Set1_A]
1. 1 [Option ID = 1721]
2. 2 [Option ID = 1722]
3. 3 [Option ID = 1723]
4. 4 [Option ID = 1724]

32 . : .
) Which of the following describes central place model

(1) Spatial patterns of urban and out lying areas based on the flow of goods and services
(2) Spatial patterns of income groups

(3) Spatial patterns of residential places

(4) Spatial pattern of cultural places
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[Question ID = 432][Question Description = Q32_Geog_sh2_Set1_A]
1. 1 [Option ID = 1725]
2. 2 [Option ID = 1726]
3. 3 [Option ID = 1727]
4. 4 [Option ID = 1728]

33) Who among the following gave the idea of the origin of monsoon in India?

(1) Al - Biruni (2) Al - Masudi
(3) Ibn - Hakkal (4) Ibn - Khaldun
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[Question ID = 433][Question Description = Q33_Geog_sh2_Set1_A]
1. 1 [Option ID = 1729]
2. 2 [Option ID = 1730]
3. 3 [Option ID = 1731]
4. 4 [Option ID = 1732]

34) Which of the following food stuff consume highest amount of water.
(1)  Rice (2)  Beef
(3) Chocolate (4) Banana
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[Question ID = 434][Question Description = Q34_Geog_sh2_Set1_A]
1. 1 [Option ID = 1733]
2. 2 [Option ID = 1734]
3. 3 [Option ID = 1735]
4. 4 [Option ID = 1736]

33) The line of equal distribution at 45° used for measuring inequalities is called
(1) Scatter diagram (2) Histogram
(3) Lorenz curve 4) Ogive curve
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[Question ID = 435][Question Description = Q35_Geog_sh2_Set1_A]
1. 1 [Option ID = 1737]
2. 2 [Option ID = 1738]
3. 3 [Option ID = 1739]
4. 4 [Option ID = 1740]

36) The sea plains are almost absent between:

(1)  20°S- 30°S Latitudes (2)  60°N - 70°N Latitudes
(3)  40°3- 50°S Latitudes (49 30°S- 40°S Latitudes
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[Question ID = 436][Question Description = Q36_Geog_sh2_Set1_A]
1. 1 [Option ID = 1741]
2. 2 [Option ID = 1742]
3. 3 [Option ID = 1743]
4. 4 [Option ID = 1744]

37) When a manufacturing firm locates very close to its raw material suppliers or to supplying

finished products. 1t 1s termed as

(1) Urbanisation economies (2) Internal economies

(3) Marketing economies (4) Localisation economies
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[Question ID = 437][Question Description = Q37_Geog_sh2_Set1_A]
1. 1 [Option ID = 1745]
2. 2 [Option ID = 1746]
3. 3 [Option ID = 1747]
4. 4 [Option ID = 1748]

38)
What will happen if the earth absorbs all the incident energy?
(1) Constant heating up (2) Constant cooling up
(3) Constant transmission (4) Constant reflection
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[Question ID = 438][Question Description = Q38_Geog_sh2_Set1_A]
1. 1 [Option ID = 1749]
2. 2 [Option ID = 1750]
3. 3 [Option ID = 1751]
4. 4 [Option ID = 1752]

39) Which one of the following group of states/UT recorded more than 35 percent of urban

population according to census 2011 data.

(1) Andhra Pradesh, Kerala, Chhattisgarh, Haryana
(2) Gujarat, Tamil Nadu, Kerala, Punjab

(3 Tripura. Kerala. Punjab. Chhattisgarh

(4) Sikkim, Kerala. Punjab, Goa
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[Question ID = 439][Question Description = Q39_Geog_sh2_Set1_A]
1. 1 [Option ID = 1753]
2. 2 [Option ID = 1754]
3. 3 [Option ID = 1755]
4. 4 [Option ID = 1756]

40) Cirques are landform of
(1) First order (2) Second order
(3) Third order (4) Fourth order
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[Question ID = 440][Question Description = Q40_Geog_sh2_Set1_A]
1. 1 [Option ID = 1757]
2. 2 [Option ID = 1758]
3. 3 [Option ID = 1759]
4. 4 [Option ID = 1760]

41 F 2
) Which one of the following statements are correct?

(A) Ocean currents provide a high degree of regulation to the thermal environments of
the earth’'s surface

(B) On a local scale, warm water currents bring moderating influence to coasts in arctic
latitudes

(C) Cold currents are not able to bring down the temperature of tropical deserts

(D) Density differences may also cause flow of ocean water

Choose the correct answer from the options given below:

(1) (A). (C) and (D) only



(2)  (A). (B) and (D) only
(3)  (B). (C) and (D) only
(4) (A). (B) and (C) only

FefAfiga 5 ° ®i9 § %99 T8 2 7
(A)  TEEFRE 9RE gt i g9 F e aEE w5 st A w f)

(B) T THE W T A 9700 AR SH FAO 92 W HdeHmEl 09" S 2
(C) =% WU 3 FizadT HeEen | aaE 9 FEe 98 = 9l 7

(D)  =ed H A 0 i HETETHE e H UEE 7 Al 7

= Tou U el | ® R IO B 99 SitAT

(1)  Fa= A). (C) 377 (D)

2 =4 (A). (B) 3 D)

(3) =4 (B). (O) 37 (D)

(4)  FAEd (A). B) 3 ()
[Question ID = 441][Question Description = Q41_Geog_sh2_Set1_A]
1. 1 [Option ID = 1761]
2. 2 [Option ID = 1762]

3. 3 [Option ID = 1763]
4. 4 [Option ID = 1764]

42) The GIS based map can he

(A) Updated
(B) Edited
(C)  Displayed

(D)  Viewed in google web portal

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only
(2) (B). (C) and (D) only
{(3) (A). (B) and (C) only

(4) {A). (B). (C) and (D) only

S 1% U SURE ST F At § ° a4 TR S ' 27

(A) EEd
(B) @uifad
(C) w=mE

(D) P AS U W 3] S AT
Hr= f2u o foeret © @ wEE S9EEA W A A

(1)  Fae (A) 317 (B)



(2) === (B), (C) 37 (D)
(3)  Fae (A). (B) 3 (C)
© (@A), @), (C) = (D)

[Question ID = 442][Question Description = Q42_Geog_sh2_Set1_A]
1. 1 [Option ID = 1765]
2. 2 [Option ID = 1766]
3. 3 [Option ID = 1767]
4. 4 [Option ID = 1768]

43) Which one of the following explains rapid growth of information and technology industry in

South India as compared to North India.

(A) Good Governance

(B) Good infrastructure and network accessibility
(C)  Large number of higher technical institutes
(D) Lower Labour cost

(E) High proportion of manufacturing workers

Choose the correct answer from the options given below:

(1) (B). (C) and (E) only
(2)  (B). (C) and (D) only
(3)  (A). (B) and (C) only
(4) (A). (B) and (D) only

I ARG I g ° S WG B g SR St sar i i 9fg F fefatas 8 9 w6 oF =men

(A)  HImEA

-

(B) =8l HAHTIAT AN J2ah Terda]
(C) == THFh TegTE 1 A

(D) = um A

(E) fafmio e = 5= w9
i fauw o fEepenl 9 @ @E I # =EA Fif

(1)  F== B). (C) % (B)

@  F=a (B). (C) 3 (D)

3  FA4 (A), (B) 3R (C)

(4) AT (A). (B) #R (D)
[Question ID = 443][Question Description = Q43_Geog_sh2_Set1_A]
1. 1 [Option ID = 1769]
2. 2 [Option ID = 1770]

3. 3 [Option ID = 1771]
4. 4 [Option ID = 1772]

44)  Which group of countries is known as the emerging markets?

(A) Taiwan - Japan
(B) India - Brazil



(C) Russia - China
(D) Russia - Chile
(E) U.S.A- China

Choose the correct answer from the options given below:

(1)  (A) and (E) only
(2) (B) and (C) only
(3)  (C) and (D) only
(4) (D) and (E) only

o T TE 1 IWE £ A % E9H AFT @1 A7
(A) dmEaE - FMH

(B) Wnd - @A

(C) =u-+d[

(D) =4 - =l

(E) 3.8 1u -5

4= Tou T EEeT ¥ § HE 39 =999 Fie

(1) a4 (A) 31 (E)

(2) == (B) 3 (C)

(3) =™ (C) #r (D)

4y  Fa= (D) 3R (E)
[Question ID = 444][Question Description = Q44_Geog_sh2_Set1_A]
1. 1 [Option ID = 1773]
2. 2 [Option ID = 1774]

3. 3 [Option ID = 1775]
4. 4 [Option ID = 1776]

45 . , ] W .
) Which of the following statements are correct about vertical distribution of temperature 1n

oceans

(A) The sun ray's have no effect below 600 feet

(B) Inspite of movement of water: large part of sea is relatively cold

(C) 80% of water in the oceans has a temperature permanently below 40°F

() The vertical rate of decrease in temperature from equator to pole is the same

Choose the most appropriate answer from the options given below:

(1) (A), (B) and (C) only
(2 (B). (C) and (D) only
(3 (C) and (D) only

(4)  (A) and (D) only

(A) 600 2 = == g4 i T =1 S w4 TH A A

= o - + -



(B) HA-T=HA = A3 Tz B T G951 [55H HAYETRT 321 1541 2|

(C) #=@ErAl o 80 Ui St =1 druE el 9 4 40°F ° 4 Tl 7

(D)  gueRE ¥ g9 H A7 F a9EH § FrEE I 9 E 5w

= fau v faet § @ meE IogEd TR R =9 FAo

(1)  F39 (A). (B) = (C)
(2) =4 (B). (C) =i (D)
(3)  Fa (C) = (D)
(4) =9 (A) #1E (D)

[Question ID = 445][Question Description = Q45_Geog_sh2_Set1_A]
1. 1 [Option ID = 1777]
2. 2 [Option ID = 1778]
3. 3 [Option ID = 1779]
4. 4 [Option ID = 1780]

46)  State/UTwise location of Biosphere Reserves in India.

(A) Nokrek in Meghalaya
(B) Cold Desert in Jammu and Kashmir
(C) Simlipal in Odisha

(D) Seshachalam in Tamil Nadu

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (A) and (C) only

(4  (B)and (D) only

WA ¥ SfarscE s $i T /aawenEy s
(A)  TEEE H A

(B) 79 R FTHR H I T

(C)  ofifzen ® fomefrore

(D) dfEeFTg 8 TErEeE
= fou U el 8 | W 39 1 999 Hie

(1) === (A) 31 (B)

(2)  FEe (B) 31 (C)

(3) A (A) W (O)

(4) = (B) ¥R (D)
[Question ID = 446][Question Description = Q46_Geog_sh2_Set1_A]
1. 1 [Option ID = 1781]

2. 2 [Option ID = 1782]
3. 3 [Option ID = 1783]



4. 4 [Option ID = 1784]

47)

The term peneplane denotes to

(A) A level surface formed in the old age of a fluvial cyele
(B) A level surface formed by wind erosion

(C) A level surface formed by marine erosions

(D) A level surface formed by meeting of flood plain

(E) A level surface formed as an end product of erosion

Choose the correct answer from the options given below:

(1) (A) and (E) only
(2) (B) and (C) only
(3) (B) and (D) only
(40 (A and (D) only

‘Ut Ires AT #

(A)
(B)
(C)
(D)

(E)

Tl 783 == 1 [AgE=n 1§ Fie g9aa g99s

Y9 HWEA ° G @6ae Has

= 2 e
TSl WA § HiG TGS O9E

AGFT HeH * Wen 9 fFfis ovae =

HWEA Tl HAleaH 30915 @ (e F9ae HJan

4 f5u 7o el | 9 @Rl I 999 Fie

(1)
(2)
(3)

(4)

Fae (A) #FF (E)
a9 (B) #1 ()
#a# (B) 57 (D)

a9 (A) #R (D)

[Question ID = 447][Question Description = Q47_Geog_sh2_Set1_A]
1. 1 [Option ID = 1785]
2. 2 [Option ID = 1786]
3. 3 [Option ID = 1787]
4. 4 [Option ID = 1788]

48)

Which of the following mines have their association with gypsum?

(A) Nagaur

(B) Lapsa Buru
(C) Bhadwah
(D)  Ghagidith
(E) Jasmar

Choose the correct answer from the options given below:

(1) (A). (B) and (C) only
(2)  (B). (C) and (D) only
(3)  (C). (D) and (E) only
(4  (A). (C) and (E) only



Frserfr & - e o & wfm 27

(A) FEm

(B) THTE

(C) wFm®
(D) wrfER
(E) == m

i o U e | ® A IO R 999 it

(1) A (A). (B) 3 (C)
(2)  F= (B). (C) ¥ (D)
(3) = (C). (D) #R (E)

(4 A (A). (C) 3T (E)

[Question ID = 448][Question Description = Q48_Geog_sh2_Set1_A]
1. 1 [Option ID = 1789]
2. 2 [Option ID = 1790]
3. 3 [Option ID = 1791]
4. 4 [Option ID = 1792]

49) Drift Theory of Wegener was postulated mainly to explain, which one of the following?

(A) Ice Age and Glacial movements
(B) Geological similarities of the coasts and Glaciations
(C) Distribution of landforms and ocean floors

(D)  Major climatic changes in the world

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only
(2) (B) and (D) only
(3) (C) and (D) only

(4) (A) and (D) only

=R = T Tagie geEa: Feieigs § 8 e =me w6 e wiaaniea e T 9

(A)  TemE @il EAdE wEeH

(B) =gzl 921 AN e Fl qETEE TEEal

(C) H_—}ﬂ'-j_hlrﬁ 7 21 HEETTE a9 i e

(D) Tava ° g ey iEe
H=r fou e el © O e S9gEE I 1 =9 Fie

(L) a4 (A) 37 (B)

(2) == (B) 3T (D)

L , ey -y S



(o)

(4)

dot (L) HIL (L)

4 (A) 3T (D)

[Question ID = 449][Question Description = Q49_Geog_sh2_Set1_A]
1. 1 [Option ID = 1793]
2. 2 [Option ID = 1794]
3. 3 [Option ID = 1795]
4. 4 [Option ID = 1796]

50)

Whaich of the following statements are correct about sea water.

(A)
(B)
()

(D)

The density of sea water depends upon temperature, pressure and salinity
Convergence of water has no effect on density
The thermal expansion of water varies with the increase and decrease of temperature

In the middle latitudes. due to an excess of precipitation the density is higher

Choose the correct answer from the options given below:

(1)
(2
(3)
4

{A) and (D) only
{A) and (C) only
(B) and (C) only

(C) and (D) only

TEl e F fawa # frefeiga @ 8 SE-8 w9 a0 2 7

(A)  =HZI el N °Aed dI9HM, 28T R SEEr W A w2
(B)  =ea W Fe F Al = w2 99T TH u=A 2

(C) A9HH % wed-92d # 5 F A fan § ufEdd 2 2|
(D) WA HETI H HeATa AN % B0 HAed AR w2
= f2u T e 5 | "R 39 o =9 FI0

(1) & (A) 31 (D)

(2 Faa (A) 3 (C)

(3) A (B) 3 (O)

(4) = (C) 3i (D)

[Question ID = 450][Question Description = Q50_Geog_sh2_Set1_A]
1. 1 [Option ID = 1797]
2. 2 [Option ID = 1798]
3. 3 [Option ID = 1799]
4. 4 [Option ID = 1800]

31) River regime with reference to flow refers to

(A4)
(B)
(©)

(D)

Pattern of seasonal flow of water
Rivers differ in their regime due to climatic conditions
River regime is represented mathematically by cumecs

River regime of Narmada and Jhelum are similar

Choose the most appropriate answer from the options given below:



(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (A) and (D) only
TGTE % H2H ° A8 99 T AR -
(A) == % e TEE w5 aEEy
(B)  orarg madl feafai & Fwo 96 a0 10 A w5 E
(C) 81 o= = g T =9 & F=Er w4 2

(D) e 3T =™ H A4 99 UF gEE B

Hm= 5 T et § § FeE IE = A

(1) & (A) 31 (B)
(2  Fad (B) =i (C)
(3) ¥ (C) = (D)
(4)  FAF (A) 37 (D)

[Question ID = 451][Question Description = Q51_Geog_sh2_Set1_A]
1. 1 [Option ID = 1801]
2. 2 [Option ID = 1802]
3. 3 [Option ID = 1803]
4. 4 [Option ID = 1804]

52)

Which of the following are not functional regions?
(A) Middle Ganga Plain

(B) National Capital Region

(C)  Malwa Plateau Region

(D) Kolkata — Howrah Conurbation

Choose the most appropriate answer from the options given below:

(1) (A). (B) only
2y (A).(C) only
(3)  (B).(C). (D) only
4 (A).(B) (C)only

FefAnEd § ¥ %6 FEEE (functional ) Y& e &
(A) =% T HEH

(B) TUm TG &

(C)  wean w3r &

(D) IRl — FATSI TATH

Fr= oo HeeT O O e STESE 39T 5 =999 i -



(D
(2
(3)

4

Fas (A) AT (B)
Fa (A) #HIT (C)
Fas (B). (C) #1T (D)

Fae (A). (B) 3117 (C)

[Question ID = 452][Question Description = Q52_Geog_sh2_Set1_A]
1. 1 [Option ID = 1805]
2. 2 [Option ID = 1806]
3. 3 [Option ID = 1807]
4. 4 [Option ID = 1808]

53)

Which of the following statements are correct about the state of Himachal Pradesh in India?
(A) High potentialities for hydro-power generation

(B)  High literacy

(C) High potentialities of horticulture development

(D) Rich in mineral resources

(E) High proportion of usable land

Choose the correct answer from the options given below:

1y (A (B). (E) only
(2) (&), (B). (D) only
(3 (C). (D). (E) only
(4 (A) (B). (C) only

A # fenre wow w59 F W0 0 fefaiEs § 9 F6 0 weE w2 e

(A)
B
(C)
D)

(E)

FEHEAl T

TRTEH] AR § 3719 FETEA
T A G JEeH

F1 fou o faepe @ @ weE SUgTE I H WA A

(4)

a4 (A). (B). (E)
Fa (A). (B). (D)
#F= (C). (D). (E)

Faa (A). (B). (O)

[Question ID = 453][Question Description = Q53_Geog_sh2_Set1_A]
1. 1 [Option ID = 1809]
2. 2 [Option ID = 1810]
3. 3 [Option ID = 1811]
4. 4 [Option ID = 1812]

54)

The outcome of Kyoto Protocol 1997 agreement was

(A) 5.2% cut in emission of carbon dioxide



(B) Agreement can not be invalidated
(C) The protocol was to be effective from 1997

(D) The protocol was to be effective from 1999

Choose the most appropriate answer from the options given below:
(1) (A) and (B) only
(2) (B) and (C) only
(3) (A) and (D) only

(4) (C) and (D) only

FAZ] T, 1997 dHzitd @1 @ g o ?

(A)  FEA SEHEEEE F e ° 5.2% FE
(B)  Gu=itd =+ A9 T8 A1 1 gl 7
(C) == WZrhe 1997 | v ZM7 9|

(D) = WErEE 1900 | warEl gET an|

= f2u v fashedt § @ ToE IUgE ST 1 =9I HI0AC

(1) === (A) #11T (B)
(2) @A (B) 0 (C)
(3) A (A) ¥ (D)

(4) & (C) 3 (D)
[Question ID = 454][Question Description = Q54_Geog_sh2_Set1_A]
1. 1 [Option ID = 1813]
2. 2 [Option ID = 1814]

3. 3 [Option ID = 1815]
4. 4 [Option ID = 1816]

33) Whaich of the following atmospheric gases has not been represented by correct symbol?

(A) Neon — Ne
(B) Helium — He
(C) Nitrous oxide — NO

(D) Erypton — KR

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4 (A) and (D) only
frferfiga 9 @ =19 agavssig 9 w2 adie gry T gmEn T

A) AR 2 (Ne)



(B) fafeam - wa 3 (He)
(C) szd siwEEs - o 3 (NO)

(D) 9 - * @7 (KR)

H f2u U fohedt § o HeR 3Uge ST 1 =994 A

(1) ¥ (A) 3 (B)

(2) & (B) 3 (O)

(3)  F&= (C) 3 (D)

(4)  FF9 A) 3 (D)
[Question ID = 455][Question Description = Q55_Geog_sh2_Set1_A]
1. 1 [Option ID = 1817]
2. 2 [Option ID = 1818]

3. 3 [Option ID = 1819]
4. 4 [Option ID = 1820]

56)  Which of the following are not the property/ies of correlation coefficient?
(A) r 1s independent of the choice of origin
(B) r is independent of scale
(C)  rlies between —1 and +1
(D) r = +1.0 Indicates a perfectly negative correlation

(E) r = —1.0 indicates a perfectly positive correlation

Choose the correct answer from the options given below:

(1)  (A) and (B) only
(2) (B) and (C) only
(3) {C) and (D) only
(4) (D) and (E) only

freaferias & =t =1 wEmEy o A T #

(A) 1 (9%) 999 F 3g9 § = B

(B) r (%m) " § w=ad 2|

(C) r (#11) — 1 #K +1 = o= 9 fom 7y

D) 7 (¥®) = + 1.0 Yo THEEF FEEE F HHA 9 2

(E) r (3W) = —1.0 i 99eqF TeOaY = T 241 2

= o U TRl | | =R IO R 999 AT

(1) & (@A) =7 (B)

(2 FAa (B) 3 (C)

(3) A« (C) #i (D)

(4) F=a (D) 3R (E)
[Question ID = 456][Question Description = Q56_Geog_sh2_Set1_A]

1. 1 [Option ID = 1821]
2. 2 [Option ID = 1822]



3. 3 [Option ID = 1823]
4. 4 [Option ID = 1824]

57 . . . . .
) Which of the following phenomena are not involved in global radiation balance?

(A) Pyranometer
(B) Anemometer
(C) Albedo

(D) Sensible heat

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (A) and (D) only

feafafas @ 5 ®F g2 3fvas ot aqem § e 74 2

(A)  TEEERET
(B)  ufmHEz
(C)  wTemitel

Hr fau o foehedt d & Ho UG I 1 =AT I

(1) &= (A) 37 (B)
(2)  F=A (B) 3 (C)
(3)  #aw (C) 3 (D)
(4) a9 (A) w1 (D)

[Question ID = 457][Question Description = Q57_Geog_sh2_Set1_A]
1. 1 [Option ID = 1825]
2. 2 [Option ID = 1826]
3. 3 [Option ID = 1827]
4. 4 [Option ID = 1828]

58) Identify the terms associated with ozone measurement
(A) Dobson
(B) Spectrophotometer
(C) Pyranometer
(D) Planimeter

(E) Anemometer

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (A) and (C) only



(4) (L)) ana (&) only

SATAE = /AT H HAZ THHTEE e S TR

A) SEEE
(B) TR

(C)  wisTHHIEE

(D) AR

(E) vhmnfiz

Hi f3u U fashedi 8 ® WA I 1 == i

(1) Ao (A) W (B)

(2) A= (B) #(C)

(3) Fa= (A) @ ()

(4)  F=e (D) #F (E)
[Question ID = 458][Question Description = Q58_Geog_sh2_Set1_A]
1. 1 [Option ID = 1829]
2. 2 [Option ID = 1830]

3. 3 [Option ID = 1831]
4. 4 [Option ID = 1832]

59)  Which is not true regarding mountain climate of India?
(A) Sharp contrasts in temperature between the sunny and shaded slopes
(B) Diurnal range of temperature 1s high
(C) Uncertain character of rainfall with drought proneness and crop failures

(D) High temperatures accompanied by high humidity

Choose the most appropriate answer from the options given below:

(1) (A) and (C) only
(2) (B) and (C) only
(3) (A) and (B) only

(4) (C) and (D) only
e =i wddE Feary & 96§ et § @ wiE w1 wyE wh e e

(A) T F AagE 0 fgE T % aEE 5 9RE1 ST
(B) Tz = ammE = wEn (39) Gt we

(D) F= A9HH % HU-H" 3= HAEAT

Hr 2w o fawedt | | GEE Iugw IO 0 99 I

(1)  Fad (A) 37 (O)

(2)  Fad (B) ¥ (O)



(3) A (A) FF (B)
(4) == (C) 3T (D)

[Question ID = 459][Question Description = Q59_Geog_sh2_Set1_A]
1. 1 [Option ID = 1833]
2. 2 [Option ID = 1834]
3. 3 [Option ID = 1835]
4. 4 [Option ID = 1836]

60) Environmental determinism was criticised and opposed by

(A) Huntington on and Semple

(B) Vidal de la Blache and L. Febvre
(C) Humhboldt and Ratzel

(D) Ritter and L. Febvre

(E) Blache and Reclus

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3) (D) and (E) only
(4) (B) and (E) only

(A)  F(ETeA 1R T
(B) Ta=/ T o seE SR Ue e
(C)  Frloz AR 1z9
(D) f=z= 3 v Fem

(E) oA #i froemm

Hi= fou o foweai # § OF 39 %1 =59 i

(1) Fa (A) 3% (B)

(2)  FaF (B) 31 (C)

(3) A« (D) #HE (E)

(4)  Fa= (B) ¥R (E)
[Question ID = 460][Question Description = Q60_Geog_sh2_Set1_A]
1. 1 [Option ID = 1837]
2. 2 [Option ID = 1838]

3. 3 [Option ID = 1839]
4. 4 [Option ID = 1840]

61) Which of the following vegetation species do not pertain to Tropical Thorn Forests?

(A) Nirmali
(B) Khejra
(C) Tendu
(D) Haldu
(E)  Babul

Choose the correct answer from the ontions e1ven below:



(1) (A) and (B) only
(2)  (C) and (D) only
(3)  (A) and (E) only
(4)  (B) and (C) only

et & & et 1 F-w ST R4 T & wa

i o

(A) T
B) @I
©
D) ==
(E) =g

i f3u U fasheqi 4 | @E IR W == I

(1) & (A) = (B)

(2) A (C) ¥ (D)

(3) A (A) #7(E)

4)  FEA (B) ¥ (C)
[Question ID = 461][Question Description = Q61_Geog_sh2_Set1_A]
1. 1 [Option ID = 1841]
2. 2 [Option ID = 1842]

3. 3 [Option ID = 1843]
4. 4 [Option ID = 1844]

62 i 5 .
) The process of evaporation in ocean water 1s affected by

(A) salinity
(B) latitude
(C) season

(D) winds

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only
(2) (B) and (C) only
(3)  (B). (C) and (D) only

(4)  (A). (B). (C)and (D)

TEFEE T | O ) Ui T 2 2 -

(A) ATl

B) wwm
(C) wimm
D) =

Hr fou o foepedi § @ weE ST w1 9Ee i



(1)
(2)
(3)

4

Fad (A) 31 (B)

Faa (B) w1 (C)

A (B). (C) 317 (D)

(A). (B). (C) w7 (D)

[Question ID = 462][Question Description = Q62_Geog_sh2_Set1_A]
1. 1 [Option ID = 1845]
2. 2 [Option ID = 1846]
3. 3 [Option ID = 1847]
4. 4 [Option ID = 1848]

63)

Which of the following statements are incorrect about the growth of tourism industry in the

world?

(A)

(B)

(©

(D)
(E)

Steady growth in real incomes of the people in the world has contributed to growth of

tourism

Increased desire of the people to experience different cultures and landscapes has

contributed to tourism growth over time

Many countries have heavily invested in development of tourism infrastructure to

encourage tourism
There are little range of destinations open for the middle-income group travellers

People from developing countries now dominate the global tourism

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A). (B) only
(B). (C) only
(D). (E) only
(C). (D), (E) only

fava o whed 3= # 9w o geiua FeleiEd § 9 #9-0 #9959 7

(&) T F faEm b fava & Srn Fi andes 9 1 a9t = aEe =

(B) Tz fawm # fafas oesfad 4 aftgegi #1 399 #9450 900 ° aedl 58 591 F aEE
w 3

(C)  wizd =i Wieared &4 = fo10 =8 391 3 vz oeaes] anya e 6 A § 9E Hem e |

(D) = A= % A U ] i A wid 7

(E)  Afvas w9eq § {ameiia 520 = =0 i 38 Tama 2

A= 1o TTU R § H " I R =EE Hi

(1) =3 (A) 51 (B)

(2)  Fad (B) 3R (C)

(3) A= (D) 9 (E)

(4) == (C). (D) W (E)

[Question ID = 463][Question Description = Q63_Geog_sh2_Set1_A]
1. 1 [Option ID = 1849]
2. 2 [Option ID = 1850]
3. 3 [Option ID = 1851]
4. 4 [Option ID = 1852]

64)

Who among the following were the believers of Environmental Determinism?



(A) C. Darwin
(B) Humbeoldt
(C) Ratzel

(D) Semple
(E) Blache

Choose the correct answer from the options given below:

(1)  (A).(C) and (D) only
(2)  (A). (B) and (E) only
(3) (A) and (B) only
(4) (A) and (E) only

fAfoiliaa 5 © wE-FE FaEniy Fremae 4 fHGam w@d 97

(A) =i sifEw

® FEEE

(C) tz==

(D) Hu=

(E) =m=

H= fgu T faweat @ @ @E I W = Fifw

(1) === (A). (C) 1 (D)

(2)  FAF (A). (B) @R (B)

(3) = (A) #E (B)

(4) 4 (A) #R (E)
[Question ID = 464][Question Description = Q64_Geog_sh2_Set1_A]
1. 1 [Option ID = 1853]
2. 2 [Option ID = 1854]

3. 3 [Option ID = 1855]
4. 4 [Option ID = 1856]

65)  Which one of the following is closely associated with westerlies?

(A) Furious fifties
(B) Boyle's gas law
(C) Walker circulation

(D) Rossby waves

Choose the most appropriate answer from the options given below:
(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (A) and (D) only

Trefeifiga @ ¥ i U1 99T A TS g 2

(A)  TEvs T (W )



(B) =/ #1 E FEm

(C) A= afE=Rm

(D) TS T

= fou e e 1 W HeE IUEEE I = Hie
(1)  ae (A) 311 (B)

(2) === (B) #1 (C)

(3)  #aw (C) ¥R (D)

(4 FA4 (A) 3R (D)

[Question ID = 465][Question Description = Q65_Geog_sh2_Set1_A]

1. 1 [Option ID = 1857]
2. 2 [Option ID = 1858]
3. 3 [Option ID = 1859]
4. 4 [Option ID = 1860]
66)  Match List T with List II :
ListI List IT
Rivers Types of Delta
(A) Missisippi () Arcuate
(B) Ganga (I) Bird-foot
(C) Narmada (TITy Cuspate
(D) Tiber (IV) Estuarine
Choose the correct answer from the options given below:
(1 @-@. @B -dDn. () -dadn @O - dv)
(2) A-dn, (B) —-dp, © -@ @O —aAV)
(3) A-dy. @® -a@d. (© — av). (@O — (o
(4 A@-av, @ -da, ©-dadn O -O
Tt 1% @my z=ht 11 =1 foem Fifsm
Tl = 1L
(A) THEET (I =R
(B) T (ID) =&t o=
(C) == (IID) e
D) 7w (IV) el
= f2u T e | w9 3 w1 99 i
(1 A -@. @® - d. (©) - dan. @O - dAv
(2) @ -dn. (B)-an, (© -@O, @O - av)
(3) A-d. ® -@d. (© - av. (@O — dm
(4 A-av). B — dh. (©) — dL. @O — @D



[Question ID = 466][Question Description = Q66_Geog_sh2_Set1_A]
1. 1 [Option ID = 1861]
2. 2 [Option ID = 1862]
3. 3 [Option ID = 1863]
4. 4 [Option ID = 1864]

67)

Match List I with List IT :

List I
Hydro power units
(A) Dehar
(B) Srizailam
(C) Kalindi
(D) Sharavathy

List IT
State
(I Karnataka
(II) EKarnataka
(TIT)y Andhra Pradesh
(IV) Himachal Pradesh

Choose the correct answer from the options given below:

O @-O @G -aV. © - dn. D - d)
(2) (A —-1OV). (B) — (I). (C) — (). (D) — (D)
3 @-a, B - dn (© -d. @O - @
@ @-dn B -a (© -av. O - @

7=t 1%z g=ft 11 1 faerm fifso

(A)
(B)
(©)

D)

T T

- -r-.,i;r_'r

(I =FAEH
() =FAZ®
(IIT) =T w=o

IV) feame o

= fou o Tl @ wE I W == Fif

(1)
(2
(3)
4)

A-O. @B - av.
@ -av, @ - d.
(&) —dv). (B) — D).
(A)—dID. (B) — dD.

(C) — dD). (D) — D)
(€C) — dD. D) - @
©) - an. @ - @
© -av. O -@

[Question ID = 467][Question Description = Q67_Geog_sh2_Set1_A]
1. 1 [Option ID = 1865]
2. 2 [Option ID = 1866]
3. 3 [Option ID = 1867]
4. 4 [Option ID = 1868]

68)

Match List I with List IT ;

LastI
(A) Culture

(B) Cultural Complex
(C) Cultural Region

(D) Cultural Integration

Last IT

(I}  Culture traits that are functionally
interrelated

(II) Area that is distinet from surrounding
areas 1n specific characteristic

(III) Specialized behavicual pattern under
standings and adaptation of a group

(IV) Interlocking nature of the sociological

¥ NG TR, e Y P | TRh. o] PREPLE . O,



LA LIV DAL CALLAL e
subsystem

Choose the correct answer from the options given below:

1 @-dn. ® -av. © -an. @O - @D
@ @w-ap ®-0O (©-d, O - advm
3 @W-0O @ -d. (© - dn. D) - av
49 @G-av. B -dnh © -4ad) @O - d

Tt I @1y gt 11 %1 faem =hifsw
T L T I

) war (D TEHias o =1 FEHR F9 B Sqgaid
=

(B) FEF TF @) == & i fafe fRmEe § s
T T e 2

(C) AFaT &4 (III) fafoe =@sr Gl ufaey @99 3 998
ey

(D) HRFT T (IV) war= e, e s fgiten s

A=t fou o el § wE 3O W = it

(1) (A)— (D). B) — dIV). (C) — dD., (D) - (@D
(2) A -dn, B -@O. (€ —-Jadan. @O - av)
(3) A)-O. @ - dn. () - D, D) - dIv)
(4) (A)—(IV), (B) — D, (C) —dD)., D) — (D
[Question ID = 468][Question Description = Q68_Geog_sh2_Set1_A]
1 [Option ID = 1869]
2 [Option ID = 1870]

3 [Option ID = 1871]
4 [Option ID = 1872]

A w N =

69)  Match List I with List II :

List I List IT

(Social Movement) (State of Origin)
(A) Save Silent valley (I} Jharkhand
(B) Chipko (I) Gujarat
(C) Narmada Bachao (IIT) Uttarakhand
(D) Jungle Bachao (TV) Kerala

Choose the correct answer from the options given below:
A  @-@ @ -a, (© - dm, D) - [
@ @-am @®-dadn ©-avm, M -O
3 @G-dh @®-av). © - @O. @O — dp
@ @-a). ® - dn, © -a. O - @

o= [ % @y gt 11 1 e fire

gl 1 Tl 11

(Tt ATer) (s o)



(A)  TF HEee d=

(B) ==t

(C) =1 ==

(D) =T sl
4= 2 o faFe o TE IR F 999 Fi

(1) {A)—(I). By — (II)., (C) — (III).
(2) A)—dD., B — dII. (©) — {IV).
3 (A-@D. B — dIV). (C) — .
(4) (A)—(IV), (B) — (III), (C) — (II).

@O wmEs
(1) T=a
(III) IS
(IV) et
D) — a@Ov)
D) — @D
(D) — (ID)
D) - @

[Question ID = 469][Question Description = Q69_Geog_sh2_Set1_A]

A wWw N =

70)

1 [Option ID = 1873]
2 [Option ID = 1874]
3 [Option ID = 1875]
4 [Option ID = 1876]

Match List I wi

ListI

th List IT :

Arab Geographer

(4A) Al-Masudi

(B) Al-Idrsi

(C) Al-Biruni

(D) Ibn-Khaldun

List IT
Books
(I} Kitab al Hind
(I) Mugaddimah
(ITI) Kitab Muruj-al- Dhahab
(IV) Tabula Rogeriana

Choose the correct answer from the options given below:

(1 (A)-dm.

@ @-O. @ - adv).
(3 A-d). (B — dD.
@ @A-av. @ - .

Tt 1% =my g=ft 11 =1 faem Fifem

T I

(A) AA-THE

(B) Fer-gimfi

(C) FTA-TasA]

(D) -
= fou o ool @ wE 3T 0 = it

(1) @A-dn. B — av. (© - M.
@ @-0O @ -a). (© - dD,
(3 (A-1. (B - d. (C) — @V).
4 @-av. ® -O. (© - dD).

B)-av. ©-M @O - {1
(C) — a1, (D) — (ID)
G -av. O -0

€ - @), @O~ @)

T 11
T
(I T a1 o

D) gt

(IIT) ToFamE g -Aa-g8H

V) Fogen it
(D) — D

(D) — D

D) =@

(D) — D

[Question ID = 470][Question Description = Q70_Geog_sh2_Set1_A]



A W N -

71)

1 [Option ID = 1877]
2 [Option ID = 1878]
3 [Option ID = 1879]
4 [Option ID = 1880]

Match List I with Last IT:

(A)

(B)
(&)

(D)

ListI
Goals of National Water Mission
Goal -1

Goal — 2
Goal — 3

Goal -5

List IT
Items

(I) Basin level integrated water resource
management

(IT) Attention to vulnerable areas

(III) Water conservation by promotion of
citizen and state actions

(IV) Comprehensive water data base

Choose the correct answer from the options given below:

(1)
(2)
(3)
@

@-@. @B -d) (© —dm, @O - av)

@A-dm. @® -av. © - @

. (D) — D)
@ -dp. ® - dn. (© - O.

D) - a@v)

@ -av). (B) - dh, € - an, @@ - @

o=t 1% zny 7=ht 11 =1 foem Fifom
A1

-1

(&)
(B)
(©

(D)

T2

A3

e -5

= fau o fameul o wE 3w H 99 FirAu

(1)
(2)
(3)
@

@-@O. (B - d). (©) - am,
@ -d, @ - avy. © - @.
A)-dmn. B - dp. (© - @,
@A -av, B - D, (C) — ab,

[Question ID = 471][Question Description = Q71_Geog_sh2_Set1_A]
1. 1 [Option ID = 1881]
2. 2 [Option ID = 1882]
3. 3 [Option ID = 1883]
4. 4 [Option ID = 1884]

72) " Match List I with List IT ;
ListI
Spectral Band
(4) Blue
(B) Green
(C) Red
(D) Thermal

AT

B [

() SEF-=F Thid 5o 5ETee TEeE
(AD) w= & W e e
T TIE

(IV) =97 7o 321 A9W (SeEE)

D) — av)
(D) — (1D
D) — @)
D - @

List IT

Principal Applications
(I) Vegetation Stress Analysis
(I) Differentiating soil from vegetation
(III) Coastal Mapping

(IV) Vegetation discrimination

Choose the correct answer from the options given below:



1 @W-O ®-d. (© - d). @D - dv
(2 @W-dn ® -av. ) -a. O - @
3 @W-d ®@-av. © -O. @O - JdDn
49 @W-av. @& - dn. © - ad. @O - ®d

=t I % @y g 11 1 e =i

Tt I o= 11
(A) e (I) = ZamE e
(B) = (1) ==FI & gar-fa9g F
(C) == (II1) =Hzaz = AEEE
(D) ard= @IV) = faidemm

= o v el @ wE 3T o = i

O @A@-O @ -d. (© - dJdn, D - dav
2 @A-Jdn ®-adv. € -an @O - @
3 @W-a. ®-am™W. ©-O @ - am
4 @-av. @® - d), ¢ -dan, D) - @D
[Question ID = 472][Question Description = Q72_Geog_sh2_Set1_A]
1. 1 [Option ID = 1885]
2. 2 [Option ID = 1886]

3. 3 [Option ID = 1887]
4. 4 [Option ID = 1888]

73)  Match List T with List II :

List I List IT
Process Parameter
(A) Photosphere (Il Sunspot
(B) Maunder minimum (IT) Solar irradiance
(C) ABC (ITT) Palynology
(D) Pollen Grain (IV) Formation of layers of pollutants

Choose the correct answer from the options given below:

1 @-a. ® -dn (© -av. O - @D

2 @W-am. ®-d0d. (©-a). D - Jdn
3 @W-ad. @® -av. © - @O. @O - {dIm
% @-a. ®-@0. (© - dn @D - av)

et L% w5 10 forem it

I T 11
) R (TR @ o
£D, et @

(C) Tl (III) WPT=hoT Ue =Tt = seaa



(D) T

Hr= f3u U foepeat 9 wET 3 w0 == it

1 @W-a. @ - dh. (€ - av.
2 @-a. ®-O. (© -awm.
(3 @-ad. @ - aV). ©) - D.

@9 @w-am. ® -0 (© - d,

D) - @

(D) — (IID)
(D) — (IID
D) — (IV)

[Question ID = 473][Question Description = Q73_Geog_sh2_Set1_A]

1. 1 [Option ID = 1889]
2. 2 [Option ID = 1890]
3. 3 [Option ID = 1891]
4. 4 [Option ID = 1892]
) Match List T with List IT :
List I List IT
(Peaks) (Range)
(A) Gurusikhar (I) MNilgir
(B) Dodabeta (II) Eastern Ghats
(C) Armakonda (IIT) Satpura
(D) Dhupegarh (IV) Aravalll
Choose the correct answer from the options given below:
(1) A)-d. @ - dv). (©) - dDn, D) - @O
(2) @A-av, ® -0, O -0 O -Jdm
(3) A-dm. @ -addv. © - @. (D) — dm
(4 A-1dv). B -d. © - @O. (D) - adm
Tt 1% @9 gt 11 =1 fem it
T I T 11
(A) TR () =
B) = (I) i =
(C) =i (III) Tau=
D) gI=e (IV) =FTaett
= fou U e @ 5E I H 99 FiAw
1n @-am, G -awv, ©-dan O -O
2 @-av. B -0O. © -dp @O — dm
3@ @-am ® -avm, © - @ @O — Jm
@ @-a@V). B -a. © - @O @O — [

[Question ID = 474][Question Description = Q74_Geog_sh2_Set1_A]

1. 1 [Option ID = 1893]
2. 2 [Option ID = 1894]
3. 3 [Option ID = 1895]
4. 4 [Option ID = 1896]



75)

Match List I with List IT :

ListI
Relief Features

(A) Puerto Rico deep

(B) Sunda Trench

(C) Philippine trench

(D) Point Barrow

Tist IT

Name of Oceans
(I) Pacific Ocean
(ID
(III)

(IV)

Atlantic Ocean

Indian Ocean

Arctic Ocean

Choose the correct answer from the options given below:

1  @A@-O @ -d, (€ - dn, D) - (Iv)
2 @-av), @\ -dn. © -dadp @O - @D
3 @-da. @® -Jdn, © -@O. @O - IV
(4 @-dn, ) -4adv), ¢ -@O @O — d)
T 1% =g w11 3 faerm i
i 1 o=l 10
(T=ma= % =) (FETEFRT & =)
(A) =372 T 9 (deep) (I) w979 HEEE
(B) Hz1wmmE (II) eeAies Tear
(C)  Trferdi =t (1) T2 Aem@rw
(D) sz & (IV) TTh{eF TEEFR
i 50 U fawed | wE I H 99 i
1 @-O @ -d (© - dn, @O - @V
(2) (A)—(IV). (B) — III). (C) — {ID. Dy — @D
(3) (A)—ID). (B) — dII). (C) — (D). (Dy — (IV)
4 (A)-1D. B - dV). € - @O. @D — dD

[Question ID = 475][Question Description = Q75_Geog_sh2_Set1_A]
1. 1 [Option ID = 1897]
2. 2 [Option ID = 1898]
3. 3 [Option ID = 1899]
4. 4 [Option ID = 1900]

76)

Arrange the following in order on the basis of year of meeting report

(A) COoP21

(B) EYOTO protocol
(C)  First Earth Summit
(D) IPCC Report

Choose the correct answer from the options given helow:

1 (©).(B). D). A
(2)  (B). (D). A).(©)
3 A, ©C).D). B

F Y

MYs F"y S AY JIDON



b el A e N LS

Fre=feriaa 1 39 99 o2 % 99 % oW W e 0 =Eiead Firae)
(A) = - 21

(B) T TR

(©)  wum g HEEE

00 ) DG T = =

e fou o famedt @ @ HE ST o = A

1 (0. (B). D). (&)

(2 (B. D). ). ©

(3) (A (C). D). (B)

@ (D) (O (A B
[Question ID = 476][Question Description = Q76_Geog_sh2_Set1_A]
1. 1 [Option ID = 1901]
2. 2 [Option ID = 1902]

3. 3 [Option ID = 1903]
4. 4 [Option ID = 1904]

77 3 : 4 ; i : :
) Which one 15 the correct ascending order of satellite sensors in terms of higher spatial

resolution?

(A) REV of Landsat
(B) TM of Landsat
(C) LISS IT of IRS-1C

(D)  PAN of TKONOS-2

Choose the correct answer from the options given below:

1) (A). (D). (©). ®B)
2 (A0, 3. D)
3 (D). (A). B). ()

4 (B).(0). (A). (D)
I= T E9eT & Ud 9 IUUE HAGH] F g § 5 6 | UF Ha A0E FH 5 7
(A)  F=fEw an. &
(B) <=8z = A, g
(C) W% W wH-1 Hi = U 7% vH vE - 11

(D) TFAE-2 F 9 T wF (PAN)

i U U e | A HE 3 F =EE i

(1) (A). (D). (C). (B)

FEy fFAY Yy /Yy Ty



L= f 1 dfe L0 e LSS VAT

(3) (D). (A). (B). (C)

(4) (B). (C). (A). (D)

[Question ID = 477][Question Description = Q77_Geog_sh2_Set1_A]
1. 1 [Option ID = 1905]
2. 2 [Option ID = 1906]

3. 3 [Option ID = 1907]
4. 4 [Option ID = 1908]

78) Arrange the four Indian oceanic relief features in order of their location from north to south
direction

(A) Laccadive-Chagos ridge

(B) Chagos-Saint Paul ridge

(C) Amsterdam-5t. Paul Plateau

(D) Kergelen-Gaussberg ridge

Choose the correct answer from the options given below:
(1) (D). (C)(B). (A
2 (0. (B). A). D
3 (A @®B.(0).(D
4 (B (). A). D

o=z TEEPR % =1 FEE AL F I § S FT R S [Tl F TR W i Eeg 1

(A) EFEE-ETIE ®2E
(B)  =FTE-EA 9 F2h

(C) UHEZER-TH e TSR

(D)  FIH-TEHE F2F

= f2u o faweT 5§ T9 I F 99 S

(L D). (). B). A

2 (.3 ). D

(3 (4. ®B). (). (D)

4 (B (C). (A). (D)
[Question ID = 478][Question Description = Q78_Geog_sh2_Set1_A]
1. 1 [Option ID = 1909]
2. 2 [Option ID = 1910]

3. 3 [Option ID = 1911]
4. 4 [Option ID = 1912]

79) . . .
Which one of the following 1n the correct sequence in the development of German school of

thought?

(A) Ratzel-Paschal-Hettner-Troll
(B) Paschal-Ratzel-Hettner-Troll
(C) Ratzel-Troll-Paschal-Hettner



(D} Troll-Paschal-Hettner-Troll
(E) Hettner-Paschal-Troll-Ratzel

Choose the correct answer from the options given below:

1 @
2 (@B
3  (©
@ @O

HEA fEEmaE F T § FEfegd § 3 % o1 UG8 FE B 7

(A) 12 - TS - EeR - 2

|lL:B) "'H{"‘:-.IE"‘I = :‘d;iﬁ — ,_¢¢..H = a‘k—.,.l'

(C) 129e - 2/ - U= - Bee

(D) 2T - 9 — 2R - i

(E) %20 - uR=E - 219 - tead

Hr fzu T el 6 W HE I 1 =EA i

(1) (A)
(2) (B)
(3) ()]
(4) (D)

[Question ID = 479][Question Description = Q79_Geog_sh2_Set1_A]
1. 1 [Option ID = 1913]
2. 2 [Option ID = 1914]
3. 3 [Option ID = 1915]
4. 4 [Option ID = 1916]

80) Arrange the given regions/states in ascending order of wind and cyclone damage risk zone

(A) Eastern Coastal plain
(B) Rajasthan
(C) Most part of Maharashtra

(D) Karnataka (except coastal area)

Choose the correct answer from the options given below:

(1 @A.©.®3B.D
@ (0.3 @A. D
3 [D.0).3B). "
@ (B.0©).D. A

e 3 SwATE | BH A M % G SF AR #E O Heengd AU F FEEE
(a) T T A
(B) BUELIE

(C)  HEMTE =1 AT 9



(D)  FWlew (adE &= H BSH)
Hr f2u U el 5 9 wE I R = i

(L @&).(C). B. (D
2 (0. B). . D
(3 (D). Q). [B). &
@ (B, (C). D). A

[Question ID = 480][Question Description = Q80_Geog_sh2_Set1_A]
1. 1 [Option ID = 1917]
2. 2 [Option ID = 1918]
3. 3 [Option ID = 1919]
4. 4 [Option ID = 1920]

81) . . —
As the wave approach coast, the wave form changes radically, Which one of the following 1z

correct sequence of changes?
(A) Closely spaced crests
(B) Wave breaker

(C) Swash

(D) Back wash

Choose the correct answer from the options given below:
1) (B).(C).(A).M)
(2 (A, D), (©). B
3 (0. ®. D). @A
@ A). B, ). D)

HH-SHH 0 92 I AN "gdl 7, I =9 0 AHA TREdd 7A@ 2| TG @A w9 FeieEd 1 8@
FH A7

(A)  F9 A T G
(B)
(©) =3I

(D) v G

H= fau o faweul 0 9 "9 I #1994 A

(1  (B).(0), A). (D)
@ (A, D), (©).®
(3 (). B).D).(A
@ (A, ®), (). D)

[Question ID = 481][Question Description = Q81_Geog_sh2_Set1_A]
1. 1 [Option ID = 1921]
2. 2 [Option ID = 1922]
3. 3 [Option ID = 1923]
4. 4 [Option ID = 1924]



82) The most accurate representation of culture units are given below. Arrange them from

highest to lowest

(A) Complex

(B) Realm
(8] Region
(D) Trait

Choose the correct answer from the options given below:
1 ®.(C).A. D
(2) (B). (D), (A). (C)
(3 (O, A).D.®E
@ ®B.0.0)."w
TEF THF F TAMGF T TAETa 1231 70 7| 3991 S99 5 (a8 %9 1 =aread Fiw

(A) e (i)

(B) wivse
(C) wem
®) T ()

= f2u v AT 5 9 wE 3 = Fire

1 ®.©0), A). D
@  (B).(D).A).(©
3 (©). A D.®

4)  (B). (C). (D). (&)

[Question ID = 482][Question Description = Q82_Geog_sh2_Set1_A]
1. 1 [Option ID = 1925]
2. 2 [Option ID = 1926]
3. 3 [Option ID = 1927]
4. 4 [Option ID = 1928]

83 : : : :
) In concentric zone model, the correct order of zones from city core to periphery 1=

(A) Low-Class residential
(B) Whole sale lisht manufacturing
(C) CBD

(D) Medium-class residential
Choose the correct answer from the options given below:

1) (A). B (©). (D)
@  (B®. (). D). @A)
3 (€. B). A . D
4  @.®B.(C). @A

=, = - - = - b =, o E
N, T . ERL JORULY ... SR, SSPUPRS. TR 1P . SR WO, LI tath. « PN - SRR



ST AT ATRRAT 71 T S0 S [EERLTITE S s o RlAal S Saal A o

A) T wEEE
(B) 9% e A
© wHiiE

D) == T AEEE

Hi= fou U fepeTl 9§ 98 I R 99 AT

(1) (A). (B). (C). (D)

2  (B).(C), D). A

(3  (C), (B). A). (D)

4 (D). ®B.(C). A
[Question ID = 483][Question Description = Q83_Geog_sh2_Set1_A]
1 [Option ID = 1929]
2 [Option ID = 1930]

3 [Option ID = 1931]
4 [Option ID = 1932]

A W N -

84) The correct sequence of the states in ascending order in terms of Mangrove vegetation

COVerage area 1s

(A) Goa
(B) Andhra Pradesh
(C) Odisha

(D) West Bengal

Choose the most appropriate answer from the options given below:
(1) (B). (A4, (C). (D)
2 (A).®).©). D
3 (B). (A). (D). (C)
@  @A). 3. D). ©
g aeEaa % Fa 59 F ge ¥ Fefataa T # TRE w0 5
(A)  TIEm
(B) MGl
(C)  =Aifs=m

(D)  ofv=m smE

= fau o faweT 4 1 HE I F 99 S

(L) (B). (A). (C). (D)
2 A. 3. (). D)
(3) (B (A). D). ©)
4 A 3. D).



[Question ID = 484][Question Description = Q84_Geog_sh2_Set1_A]
1. 1 [Option ID = 1933]
2. 2 [Option ID = 1934]
3. 3 [Option ID = 1935]
4. 4 [Option ID = 1936]

85)

The agricultural activities from the city centre to the periphery propounded by Von Thunen:

Arrange 1t

(A) Grain farming

(B) Market Gardening

(C) Three fold system

(D) Firewood and lumbering product

Choose the correct answer from the options given below:

1)
(2)
(3)
“

(D). (B). (A). (C)
(A). (B). (C). (D)
(C). (D). (A). (B)
(B). (D). (A). (C)

TR T g W AT 9T T 9 O g Uiauied He-wadt TetateEt sete fi)

A
(B)
(&)

(D)

AT A

ffag wgia

SoH =hi TERS! T THEFGA IS

4 fou U fasheai B © WE S = A

(1)
(2)
(3)
(4)

(D). (B). (A). (C)
(A). (B). (C). (D)
(©). (D). (A). (B)

(B). (D). (A). (C)

[Question ID = 485][Question Description = Q85_Geog_sh2_Set1_A]
1. 1 [Option ID = 1937]
2. 2 [Option ID = 1938]
3. 3 [Option ID = 1939]
4. 4 [Option ID = 1940]

86)

Given below are two statements : One 1= labelled as Assertion (A) and the other is labelled as
Reason (R)

As

sertion (A) :Among the states of India Madhya Pradesh recorded highest percentage of
Scheduled Tribe population in census 2011.

Reason (R): Madhya Pradesh iz located in central part of India dominated by large area

In

under forests with least road connectivity and accessibility.

the light of the above statements, choose the most appropriate answer from the options

given below:

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)



(2) Both (A) and (R) are correct but (k) 13 NOT the correct explanation of (&)
(3 (A) 13 correct but (R) 1s not correct

4 (A) 1= not correct but (R) is correct

Hr 21 o foo T 3| uF ATaFUF (Assertion A) F =7 § fdfEd 2 @ 50 36F F0 (Reason R) &

Y

SRS A 9FA F TS 0, 95 989 A S0 2011 0 g 59 w0 i S # S=an 0

= |
FEOUR: AT YA * Hed 9 4 foud 2 it 3 92 a9 °§ S & 99 9% © AU 99 e
e R

ITF FH F ATF 1, F= 7 o e § ¥ van 3w s # v i)

(1
(2)
(3
@

A #R R ZH1 @81 7 3 R, A i 581 == 2
A 3R R 241 @81 2 31 R, A 1 ®# =ame 76 2
A w# 2 =it R @7 5 A

A H# 77 & @i R 981 3|

[Question ID = 486][Question Description = Q86_Geog_sh2_Set1_A]
1. 1 [Option ID = 1941]
2. 2 [Option ID = 1942]
3. 3 [Option ID = 1943]
4. 4 [Option ID = 1944]

87)

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reaszon (R)

Assertion (A) :Fiord is not a suitable location for a port.

Reason (R): Fiords are drowned glaciated valleys with narrow deep channels along the

coast.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) is correct

= =1 w5 e 2| v AhTRYE (Assertion A) % =9 H feiigd B Al H 0% #0 (Reason R) #

L

o

AT A T & o {5 T e T

FAMR : fraTe fimm fenafaa et 21 & fomd a2 % feam ol 7= arfess =il 2

I FUF F AT °, = 30 v fawent 8 8 wen sugE 39 w1 95 i)

(1)

A 3R R =M1 I8 & 31t R, A il 781 == 2|



(2)
(3)

4

A 3R R 3H1 W& #A1 R, A =i el = 46 E
A @Ei 2 wf#a R =41 9461 7

A & 78 2 @ R 981 £

[Question ID = 487][Question Description = Q87_Geog_sh2_Set1_A]
1. 1 [Option ID = 1945]
2. 2 [Option ID = 1946]
3. 3 [Option ID = 1947]
4. 4 [Option ID = 1948]

88)

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Re
As

ason (R)

sertion (A):  According to the 2011 census, the scheduled tribes accounts for 8.6 percent
of India’s population and are spread largelv in forested and hilly regions.

Reason (R) : The essential characteristics of scheduled tribe communities are primitive

traits, geographical isolation and economic backwardness.

In the light of the above statements. choose the correct answer from the options given
below:

(D Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)

(3 (A) 1= true but (R) is false

(4 (A) 1s false but (R) is true

= 21 w9 fow 0 #| vk sAfuEuA (Assertion A) % =9 ¥ foifigd 2 i g80 6% #E (Reason R) %

T

AR A : 2011 i ST % FTER GG I SEEN § SEgEd Sl # 5 8.6 haee 2 A

A SreSTed UH ATl A H el BE 2|

To=smA|

T A AENE |, A= B T EeEea 9 9 5El 39 6 =9 iy

(1
(2
(3

(4

A #R R 21 77 £ 3 R, A =i 9 = 2
AT ? A0 R 39

A T 751 2 @f%9 R O 2

[Question ID = 488][Question Description = Q88_Geog_sh2_Set1_A]
1. 1 [Option ID = 1949]
2. 2 [Option ID = 1950]
3. 3 [Option ID = 1951]
4. 4 [Option ID = 1952]

89)

Given below are two statements:

Statement I : All human actions assoclated with production. marketing and consumption

of goods and services are defined as economic activities.

Statement IT : All human actions linked not only with production, marketing and

consumption of goods and services but the time spent on leizure and

R -



pleasure acllvilles are also aelined as econoinic aciivitles.
In the light of the above statements, choose the most appropriate answer from the options
given below:
(1) Both Statement I and Statement Il are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect But Statement II is correct

49 71 A f2u o 2

FeA 1 ;A ot gedE niaEtE e g T S8 Sl Iee, e e 30 # 2 5

Fo I[: A ORI AFEE TarEtaa | T e S A GaE F SeIe, GueE S Ssean | # w9 A

e FTEFE T3 AHE-TH1E AT Tarare 3 geaiad 2 = o ST aiarEreE e = e A

ITE F2F F AEE 5, = BT GEeT 8 F 59E S0 3 =9 A

(1)
(2)
(3)
(4)

FeA 1 37 11 201 7 2|
FoA 1 31 I SF1 e 2|
oA 1 981 2, e F29 11 7o 2

Fo[ 1 7 &, A waa I T8 7

[Question ID = 489][Question Description = Q89_Geog_sh2_Set1_A]

AN wnN -

90)

1 [Option ID = 1953]
2 [Option ID = 1954]
3 [Option ID = 1955]
4 [Option ID = 1956]

Given below are two statements:

Statement I : The process in which one plate slides beneath another plate is zone of
COnVergence.

Statement IT : Sea floor spreading becomes more prominent along the zone of
convergences.

In the light of the above statements. choose the correct answer from the options given

below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1= true but Statement IT is false

(4) Statement I is false but Statement II is true

4= 71 T fEu o E)

FAL : AW A7 TE U 2 T uE iz g wie % A fems a2

FUTI0:  HATqETw &3 % TN GH5 AU H herid Afa® Y6t 7 =6 2

IS FUA F A 5, A9 0w T e § 9 aes T s = i)




(3)

(4

e Lo 1L GIHE S0 &
#FoA [ 31 II 5H1 39 2
o [ &9 7, ot e 11 590 2|

Fyq I 33979 &, wfFd o4 11 779 7

[Question ID = 490][Question Description = Q90_Geog_sh2_Set1_A]

AW N -

1 [Option ID = 1957]
2 [Option ID = 1958]
3 [Option ID = 1959]
4 [Option ID = 1960]

Topic:- Geog_SH2_Set1_B

1)

Read the following passage carefully and answer the question given below

Climate change involves both internal and external factors. External one includes solar variability,
astronomical effects on the earth’s orbit and velecanic activity whereas internal one includes natural
variability in the system, feedbacks within atmosphere. ocean and land surface. Recently, human-
induced climate change on global and local scale has become a reality, primarily through changes in
atmospheric composition and surface properties. Climate changes involve continental drift, voleanie
activity and solar output. Glacial-interglacial cycles have been contreolled by astronomical
variations. The global temperature has increased by 0.5° C with greatest in the middle latitudes
with warming particularly during the 1920 to 1940s and 1990s with several warmest vears.
Long-term changes are ascribed to astronomical forelngs. while short-term changes linked to
anthropogenic factors causing changes in atmospheric composition. including aerosol loading,
depletion of ozone, destruction of vegetation etc. Recently. climate change predictions with GCMs
are under taken for next 100 vears depending on emission scenarios for green house gases and
aerosols the mean global temperature may increase in the range of 1.4 to 5.8°C. together with sea
level rise. To conclude, eritical resarch data on cloud cover, radiation, ocean processes atmospheric
coupling and feedback processes in the context of climate change are required.

TreATeTToT T % ST WYy T R

T OfEEA 0 AANE SR ST wE gE @fed 2| S B F S G aiEdaeiean, gel F wE W

TCE TG W SITgEE TAEt S E el A B % Sad q9 S TTEAS gRadaeiedn a0
AFISA, AEETR R qTEE Fl WA A 2| B a6 3§ AT SN S TR W AMa s JeE ThEd
T A T oS 2, Fe g aEseE Hoed SR §-Ued % O § 2 A T afstm 3 weas
uftEdAl # wEgdE vEE, saemEE tfaata @ g e ot 2 Eedm- sraifEeda sl w5 e

TfEne FEEE Fd A # | gEseE amEE 0.5°C 991 SR a7 § 9 Jig T9H A9 997 S8 ¥ 5E 7 AR o

am i 1920 # 1940 Fi srafa a1 1990 % FF F 2 FE A mad wAferh WH @ #| e uEd w
FRO TR AR F WA AN 2| FAF AeTHEAF GREdA F TEY 3 AHaET FH § 2 A amneeE

HHed § qHEdd ofd 7, SH UETE YR, HATHE O HHi, 99T 1 f9EE seanie| 3 100 =9 6 few
HETTn o WY FeEg THEd i SaSEeE i W T 7| WA 6l % SeEwe a1 UEe § SEn 0 e
100 T H AHT qESeE AW9E F U0 4 1.4 ¥ 5.8°C g =9 F WY-TY T3 T9r ° i Iig 7 A
w9 2| R % R W FH %E Td 2 6 woae ufEds % med § g, At asmeiEm atbee,
AgESEE FrEa AR Figsds T @ gatad Y % 60 gy At i sEvEEd 2|

Which of the following activities do not accentuate short-term changes in atmospheric

composition?
(1) Aerosol loading (2) Astronomical forcing
(3) Loas of flora (4) Depletion of ozone

A HOZA § AFUHIcT® GHadl i HeEd § 8 Sl Tidfats a9 726 T il 2 7



(1) e (2) @ sE-fE
(3)  ==Egd = HE EE (4) HTHHA % T T

[Question ID = 491][Question Description = Q91_Geog_sh2_Set1_B]
1 [Option ID = 1961]
2 [Option ID = 1962]
3 [Option ID = 1963]
4 [Option ID = 1964]

A w N =

2)
Read the following passage carefully and answer the question given below

Climate change involves both internal and external factors. External one includes solar variability,
astronomical effects on the earth’s orbit and voleanic activity whereas internal one includes natural
variability in the system, feedbacks within atmosphere, ocean and land surface. Recently, human-
induced climate change on global and local scale has become a reality, primarily through changes in
atmospheric composition and surface properties. Climate changes involve continental drift, voleanic
activity and solar output. Glacial-interglacial cycles have been controlled by astronomical
variations. The global temperature has increased by 0.5° C with greatest in the middle latitudes
with warming particularly during the 1920 to 1940s and 1990s with several warmest years.
Long-term changes are ascribed to astronomical foreings. while short-term changes linked to
anthropogenic factors causing changes in atmospheric composition. including aerosol loading,
depletion of ozone, destruction of vegetation etc. Recently. climate change predictions with GCMs
are under taken for next 100 yvears depending on emission scenarios for green house gases and
aerosols the mean global temperature may increase in the range of 1.4 to 5.8°C. together with sea
level rise. To conclude, critical resarch data on cloud cover, radiation, ocean processes atmospheric
coupling and feedback processes in the context of climate change are required.

TreATeTIzT TS % ST W MYy T R

T O 0 AANE SR ST w0 gE Aed 2| S B i G aiEdaeiean, gel F wE W
TEE TG SN SEE A Taiar S E FEtE i HEE F 9 99 F WEaE qiadaiedt g
AFTEA, AEETR R qTeE F1 WA A 2| B a6 § AvEE SN S T W AMAaeE Sea ThiE
T A T AE #, T g aEse Heued SN §-Uew % O § 2 A Ui afEtm A weas
Uil # HEgdE vEE, saemEE tfaata @ oot 2 EedE- amiEedE wsw w5 ommeE

uREdd FEtE Fd A 2| YEsHE e 0.5°C 991 AR A § 97 Jig 5eW A HeF Aae | 5 qw o

am i 1920 # 1940 Fi srafa aur 1990 % 79 % SN HE o mad st WH @ #| ddwey wliada w
FRO WA AR F A A 2| FAF ATTHEIAF GREd F EEY 3 AMTST FOH ° 2 A amEeeE

HHeA ¥ THEdd ofd 7, HE UEE YR, 3THE w0 wHi, 99T S sente| 3 100 =91 6 few
Sy % WY FeEy UiEd $ siasEEt w91 w2 diEEy 1hi % Iease aun UEe & SHE 9 AT
100 T # HHA qESeE 999E & TEE § 1.4 ¥ 5.8°C I3 FH F WI-TY "N Taw 4 o g 7 A
AYEAT 2| e 9 W EH % Ehd @ (6 Serdy uiEdd & ged 0 gurE, fater, gEmeiiE i,
TEHSHE T 3 FigsE T O gaiad 9y % 6w qEeagul i) Fi sEvEshdl 2

Which one of the following rates of increase have been observed in global temperature in
recent times?

1)  1.0°C @) 1.4°C
(3)  0.5°C (4) 5.8°C

=1 % THA | YASHE a9EE H HEreTiEd 3 3 wmiE-w ghg o a1 2 7

)

(1) 1.0°C (2) 1.4°C
(3) 0.5°C (40 5.8°C
[Question ID = 492][Question Description = Q92_Geog_sh2_Set1_B]

1. 1 [Option ID = 1965]
2. 2 [Option ID = 1966]



3. 3 [Option ID = 1967]
4. 4 [Option ID = 1968]

3)

Read the following passage carefully and answer the question given below

Climate change involves both internal and external factors. External one includes solar variability,
astronomical effects on the earth’s orbit and volecanic activity whereas internal one includes natural
variability in the system. feedbacks within atmosphere, ocean and land surface. Recently. human-
induced climate change on global and local scale has become a reality, primarily through changes in
atmospheric composition and surface properties. Climate changes involve continental drift, voleanic
activity and solar output. Glacial-interglacial cycles have been controlled by astronomical
variations. The global temperature has increased by 0.5° C with greatest in the middle latitudes
with warming particularly during the 1920 to 1940s and 1990s with several warmest vears.
Long-term changes are ascribed to astronomical forelngs. while short-term changes linked to
anthropogenic factors causing changes in atmospheric composition. including aerosol loading,
depletion of ozone, destruction of vegetation etc. Recently, climate change predictions with GCMs
are under taken for next 100 yvears depending on emission scenarios for green house gases and
aerosols the mean global temperature may increase in the range of 1.4 to 5.8°C, together with sea
level rise. To conclude, critical resarch data on cloud cover, radiation, ocean processes atmospheric
coupling and feedback processes in the context of climate change are required.

Treaferio T % ST WYy T R

A UiET °§ A SR 9l HEE gE1 A B 9T R S W SiEdeeiear, 9z % e W

TCE T SN SIETHEE TAEr S 2 el A BEw % Saa 9 H AHaS gHadAe et a0
AIHSA, FEEPR 3N Yuee Fi TR At 2 5 F a9 1 dfvad o TUEE T ROW aEase Soarg 9iEdT
T=TE T A A 2, T gem: aEvesE IO iR g-Tea % e 3 29 99 uRed aimie £ SeaE
ufd § wEEde vEE, sEemdE e o 9 fein ot #) Bl aedEmEe w5 g

uftEdA FEfE Fd  #) 9seiE auE 0.5°C 771 FR A9E | ¥7 Jig Ted S oen waren § 78 2 A off

AT TEEEE 1920 H 1940 = AT 99T 1990 % 290 % 20H W2 99 HeH AU TWH T 7| SEEE TREa #i
WV TN ST 1 WA A1 2| FEih SAeqHieid GiEddl B g9 39 HEGST sk 3 7 91 agaseiE

THed § qREdd o B, SF I WA, MM T H OwHl, a9 # A senE| s 100 391 % e
S F Wy Feag TiEdd $1 wiiaeeEt i 9 @ #)| dFEeg 16 % IeeE a9 WEe F gE WA

100 BT B SAHG qHsei™ aeE &+ 9 § 1.4 ¥ 5.8°C gfg 4 % my-my @hg fow ° o gig 7
FYE 2| oA % GR W FH HE T4 2 6 Soad UiEds § Hed | gure, fatee, gEmvEm abEmed,

agEsHE g AR figss uEmA @ geatad wy % e aeeagel At i a2

Which of the following elements is not associated with climate change?

(1) Solar varability (2) Upwelling interactions

(3) Voleanic eruptions (4) Astronomical periodicities

Fafafad 8 9 FH-51 21999 Soarg afiEdd o gefad T651 27

(1) =R it (2) =9 % FW AW i TEtE Fan
(3)  EETHEE A (4) el sEd

[Question ID = 493][Question Description = Q93_Geog_sh2_Set1_B]
1 [Option ID = 1969]
2 [Option ID = 1970]
3 [Option ID = 1971]
4 [Option ID = 1972]

A W N -

Read the following passage carefully and answer the question given below

Climate change involves both internal and external factors. External one includes solar variability,
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variability in the system, feedbacks within atmosphere. ocean and land surface. Recently, human-
induced climate change on global and local scale has become a reality, primarily through changes in
atmospheric composition and surface properties. Climate changes involve continental drift, voleanie
activity and solar output. Glacial-interglacial cycles have been contreolled by astronomical
variations. The global temperature has increased by 0.5° C with greatest in the middle latitudes
with warming particularly during the 1920 to 1940s and 1990s with several warmest vears.
Long-term changes are ascribed to astronomical forelngs. while short-term changes linked to
anthropogenic factors causing changes in atmospheric composition. including aerosol loading,
depletion of ozone, destruction of vegetation etc. Recently. climate change predictions with GCMs
are under taken for next 100 vears depending on emission scenarios for green house gases and
aerosols the mean global temperature may increase in the range of 1.4 to 5.8°C. together with sea
level rise. To conclude, eritical resarch data on cloud cover, radiation, ocean processes atmospheric
coupling and feedback processes in the context of climate change are required.

TreATeTToT T % ST WYy T R

T OfEEA 0 AANE SR ST wE gE @fed 2| S B F S G aiEdaeiean, gel F wE W

TCE TG W SITgEE TAEt S E el A B % Sad q9 S TTEAS gRadaeiedn a0

ATESH, NEMTE 1 qUzet i Tfaeeard St 21 216 % 991 § dva® 30 THE W W SEaEd Seard TiEd

T=TE A A A 2, T goE: aEse 99ed SR -Ted % N 4 =6 A qhade arated #) Fea
uftEdAl # wEgdE vEE, saemEE tfaata @ g e ot 2 Eedm- sraifEeda sl w5 e

TfEne FEEE Fd A # | gEseE amEE 0.5°C 991 SR a7 § 9 Jig T9H A9 997 S8 ¥ 5E 7 AR o

am i 1920 # 1940 Fi srafa a1 1990 % FF F 2 FE A mad wAferh WH @ #| e uEd w
FRO TR A FOAET TG 2| FEE ACTHEIAE OEdd 1 HE99 31 qEaSS B ° 2 A agasa

HHed § qHEdd ofd 7, SH UETE YR, HATHE O HHi, 99T 1 f9EE seanie| 3 100 =9 6 few
HETTn o WY FeEg THEd i SaSEeE i W T 7| WA 6l % SeEwe a1 UEe § SEn 0 e
100 Tl § f1HA YOS 9 % 9ER § 1.4 ¥ 5.8°C g ®F % Wmy-wy Tz Tew § o gig AN A
w9 2| R % R W FH %E Td 2 6 woae ufEds % med § g, At asmeiEm atbee,
AgESEE FrEa AR Figsds T @ gatad Y % 60 gy At i sEvEEd 2|

Which of the following conditions is essential for future research with respect to climate

change?

(1) Hychological modelling
(2) Runoff modelling

(3 Computer modelling

(4)

Atmospheric modelling

werar] UiEds B weiaa wfae % iy % o fefatea 5 8 SE- od atE 27

(1)
(2)
(3)

4
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[Question ID = 494][Question Description = Q94_Geog_sh2_Set1_B]
1 [Option ID = 1973]
2 [Option ID = 1974]
3 [Option ID = 1975]
4 [Option ID = 1976]

A W N =

Read the following passage carefully and answer the question given below

Climate change involves both internal and external factors. External one includes solar variability,

T Sl P e R R S e et T R R e Ten e Ll T S A L T e e e T S e T T e e L T T T R e o I o e e T ol
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variability in the system. feedbacks within atmosphere, ocean and land surface. Recently. human-
induced climate change on global and local scale has become a reality, primarily through changes in
atmospheric composition and surface properties. Climate changes involve continental drift, volecanic
activity and solar output. Glacial-interglacial cycles have been controlled by astronomical
variations. The global temperature has increased by 0.5 C with greatest in the middle latitudes
with warming particularly during the 1920 to 1940s and 1990s with several warmest vears.
Long-term changes are ascribed to astronomical forcings., while short-term changes linked to
anthropogenic factors causing changes in atmospheric composition. including aerosol loading,
depletion of ozone. destruction of vegetation etc. Recently. climate change predictions with GCMs
are under taken for next 100 yvears depending on emission scenarios for green house gases and
aerosols the mean global temperature may Increase in the range of 1.4 to 5.8°C. together with sea
level rise. To conclude, critical resarch data on cloud cover, radiation, ocean processes atmospheric
coupling and feedback processes in the context of climate change are required.
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uftad | HERME TAE, SEE Tt S g9r e afmtag 2| fEdE- semiEeeE wm w mes
uftgda FEfE #d s #) yEseiE ameE 0.5°C 971 #iR 919F | 97 Jig Bed wifas 5ed s § g2 2 4w o
7= fema 1920 F 1940 F 3/@fa 9u1 1990 F 799 F I FE T9 FAE AfaF WY 7 3| FHEE qiEd T w5
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Fued o UiEdd o 8, A8 UIETE 9RO, ATAE T H Hdi, S B O gedis| e 100 =9 % fo,
SEes % my FeEg giadd F SiasanE f W @ 2| e 16 6 Soaee a9l TEE ® SEE 9O

100 HTAl § A1HA qHSSE W & uiEE 7 1.4 ¥ 5.8°C Ffg wF F my-my Tz T4w 4 o 3fg 79 A
HYEAT 2| R 6 GR 9 7AW e @d 2 (5 woiad UiEds o HeW H HuE, (G, gEmrEE e,
AEESE T A0 fizaE IR O Satad Y % U eyl RSt i EvEEd 2|

Which one of the following will be mean global temperature increase range till the year

21007

1)  0.1-2.0°C

(2) 1.54.8°C

(3) 1.4-5.8°C

(4) 2.0-3.0°C

T4 2100 T 4 YHSE™ AHE ¥ 915 F U (range) R @ ® FE-T7 77
1)  0.1-2.0°C

@  1.5-4.8°C

(3) 1.4-5.8°C

(4) 2.0-3.0°C

[Question ID = 495][Question Description = Q95_Geog_sh2_Set1_B]
1 [Option ID = 1977]
2 [Option ID = 1978]
3 [Option ID = 1979]
4 [Option ID = 1980]

A wN =

Topic:- Geog_SH2_Set1_C

1)

Read the following passage carefully and answer the question given bhelow

Populauon Geographv a sub fleld of Geography. studies spatial vanatmns in dlstmbutlon.
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demography in geographic perspective.

If focuses on questions such as where populations are found and how the size and
composition of these populations in regulated by demographic processes of fertility,
mortality and migration contributions to population geography are cross-disciplinary.
Disciplines other than geography contributing to population geography include demography,
sociology and economics.

Since its inception. population geography has taken at least three distinet forms. The
earliest emerging in the 1950s, focused on the systematic study of population distribution as
a whole and spatial variations in dynamic characteristics of population. Trewartha, Zelin
sky, W.AV Clark and other from U.S.A. and J.B Garnier and Pierre George in France
Pioneered this phase.

Population geography has widered its scope to cover different variety of themes with time. It
studies various population characteristics including gender. religion age. disability racrete
by grouping population characteristics into political and administrative units. All such
variables go far beyond the vital statistics of births. deaths and marriage /migrations.

Geographers have studied relations between demographic growth, displacement and access
to resources at the International scale. Examples are density maps prepared using
choropleth, 1soline and dots.
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Which one of the following vital statistics is related with demographic characteristics of
population studied in Population Geography?

(1) Apge and sex

(2) Religious composition and race

(3) Birth. deaths. marriage/migration

(4) Literacy and workforce

TAeAfeEa § O UF B T A e gl Al Arel ST e s H A S P
= ST A1 Sl 8 ?
(1) =g i fom
(2) =i TEeA AR g
(3) =4, g, o /=
(4)  HETE A S
[Question ID = 496][Question Description = Q96_Geog_sh2_Set1_C]
1. 1 [Option ID = 1981]

2. 2 [Option ID = 1982]
3. 3 [Option ID = 1983]



4. 4 [Option ID = 1984]

2)

Read the following passage carefully and answer the gquestion given helow

Population Geography. a sub field of Geography. studies spatial variations in distribution.
composition, migration and growth of population to the terrain. in a way it involves
demography in geographic perspective.

If focuses on questions such as where populations are found and how the size and
composition of these populations in regulated by demographic processes of fertility,
mortality and migration contributions to population geography are cross-disciplinary.
Disciplines other than geography contributing to population geography include demography.
sociology and economics.

Since its inception, population geography has taken at least three distinet forms. The
earliest emerging in the 1950s, focused on the systematic study of population distribution as
a whole and spatial variations in dynamic characteristics of population. Trewartha, Zelin
sky., W.AV Clark and other from U.S.A. and J.B Garnier and Pierre George in France
Pioneered this phase.

Population geography has widered its scope to cover different variety of themes with time. It
studies various population characteristics including gender. religion age. disability racrete
by grouping population characteristics into political and administrative umits. All such
variables go far beyond the vital statistics of births. deaths and marriage /migrations.

Geographers have studied relations between demographic growth, displacement and access
to resources at the International scale. Examples are density maps prepared using
choropleth. isoline and dots.
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Which one of the following group of disciplines. other than geography. has contributed
significantly to studies in population geography?

(1) Psychology, Anthropology and History
(2) Anthropology, Statistics and Sociology
(3) Sociology. Demography and Economics

(4) Economies. Sociology and History
Tl & A1 HefdtEd § 9 0 Fer—ags 3 SHEen yie #7539 1 geegw 3 T 2
(2)  FfawE, mfed @R wEeETE

(3) TR, ST T e

(4) ¥R, GETEIE FE A



[Question ID = 497][Question Description = Q97_Geog_sh2_Set1_C]

A W N -

3)

1 [Option ID = 1985]
2 [Option ID = 1986]
3 [Option ID = 1987]
4 [Option ID = 1988]

Read the following passage carefully and answer the question given bhelow

Population Geography. a sub field of Geography. studies spatial variations in distribution.
composition, migration and growth of population to the terrain, in a way 1t involves
demography in geographic perspective.

If focuses on questions such as where populations are found and how the size and
composition of these populations in regulated by demographic processes of fertility.
mortality and migration contributions to population geography are cross-disciplinary.
Disciplines other than geography contributing to population geography include demography.
sociology and economics.

Since its inception, population geography has taken at least three distinet forms. The
earliest emerging in the 1950s, focused on the systematic study of population distribution as
a whole and spatial variations in dynamic characteristics of population. Trewartha, Zelin
sky. W.AV Clark and other from U.S.A. and J.B Garnier and Pierre George in France
Pioneered this phase.

Population geography has widered its scope to cover different variety of themes with time. It
studies wvarious population characteristics including gender. religion age. disability racrete
by grouping population characteristics into political and administrative umits. All such
variables go far bevond the vital statistics of births, deaths and marriage /migrations.

Geographers have studied relations between demographic growth, displacement and access
to resources at the International scale. Examples are density maps prepared using

choropleth. izoline and dots.

Tererferfzm T < STeT T WY Tt W I A

TG I, I TR 95, SRS W SHEEE] (G, Y6, Sah T $i 9t F e G
1 HEFEA FAl 7| UF T A Tz TAETETR B U G54 A Fl 2

TE UH Tl 9T 9 SA1 7, T FEl S U A6l E A $ Al B AR A S T
H T, Hﬂaﬁmﬁmmmqﬁmﬂhﬁﬁﬂmwum LI CERE
2| TEEA YIS 8 AFEE o A @9 8 9T % S SETeTh, JEEenE S A9 7

TG i 9 TR H FH " HH dF Ao AR F9 of 96 8| T Tael €™ O 99 6 F |
70 T % 3 F o999 T gund Sl @A a9 FAEE 6 GiEcAeHE EeeaiAl § e
& = [ A By P . " PR e ~ =

% SIET U HSAET WS (A1 T i o fEanl, SAteesh, seeg. v i, Feirs AR s fagen g
FE T S, #fi, Wi AR e S 3 5w o et giae )

T F WY A YA 1 59 [ e 1 mine w1 gy A gen 7| 32 semen i
f?lmmmmummdb3ﬁTu«|thWﬂ1qﬂTﬂlTﬂmmﬂmﬂ o, L, s, TS S At
fatys Seen wed fEommen =1 sreEa w2 v ot SR 9, 5 SR FEEE e e % Sfe
Tt SRS § FE q5a A AW A

POASTIA 4 ATCE T T A HE Jig, 950 30T TS 0% 95d F 8" & gmedl #w°
AT A1 2| 350 % AN W A, W@WW&TWHWWWE‘I

Who among the following is not a U.S. Geographer ploneering population geography as a
part of spatial science?

(1) G.T. Trewartha (2) Pierre George

(3) Wilbur Zelinsky (4 W.AV. Clark
frefefaa 4 @ =i fage 2 fooe wnfs fage & 9 % =9 4 S9aEn gia ®1 A §gE 9 98
(1) A 2= @ fem 5=

(3)  Tammm St VI A o

[Question ID = 498][Question Description = Q98_Geog_sh2_Set1_C]
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4)

1 [Option ID = 1989]
2 [Option ID = 1990]
3 [Option ID = 1991]
4 [Option ID = 1992]

Read the following passage carefully and answer the question given bhelow

Population Geography. a sub field of Geography. studies spatial variations in distribution.
composition, migration and growth of population to the terrain, in a way 1t involves
demography in geographic perspective.

If focuses on questions such as where populations are found and how the size and
composition of these populations in regulated by demographic processes of fertility,
mortality and migration contributions to population geography are cross-disciplinary.
Disciplines other than geography contributing to population geography include demography.
sociology and economics.

Sinee 1its inception, population geography has taken at least three distinet forms. The
earliest emerging in the 1950s, focused on the systematic study of population distribution as
a whole and spatial variations in dynamic characteristics of population. Trewartha, Zelin
sky. W.AV Clark and other from U.S.A. and J.B Garnier and Pierre George in France
Pioneered this phase.

Population geography has widered its scope to cover different variety of themes with time. It
studies wvarious population characteristics including gender. religion age. disability racrete
by grouping population characteristics into political and administrative umits. All such
variables go far beyond the vital statistics of births, deaths and marriage /migrations.

Geographers have studied relations between demographic growth, displacement and access
to resources at the International scale. Examples are density maps prepared using

choropleth. izoline and dots.
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In which of the following decades. Population Geography greatly focused on the systematic
study of distributions and spatial differentiations in various attributes of population
characteristics

(1)  1950s (2) 1960s
(3)  1980s (4) 1990s

freafefa 4 9 fg 2o § S9gEn gie § sEEen o qu s i st & i a9
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[Question ID = 499][Question Description = Q99_Geog_sh2_Set1_C]
1. 1 [Option ID = 1993]



2. 2 [Option ID = 1994]
3. 3 [Option ID = 1995]
4. 4 [Option ID = 1996]

5)

Read the following passage carefully and answer the question given below

Population Geography, a sub field of Geography. studies spatial variations in distribution,
composition, migration and growth of population to the terrain. in a way it involves
demography in geographic perspective.

If focuses on questions such as where populations are found and how the size and
composition of these populations in regulated by demographic processes of fertility.
mortality and migration contributions to population geography are cross-disciplinary.
Disciplines other than geography contributing to population geography include demography.
sociology and economics.

Since its inception. population geography has taken at least three distinct forms. The
earliest emerging in the 1950s, focused on the systematic study of population distribution as
a whole and spatial variations in dynamic characteristics of population. Trewartha, Zelin
sky, W.AV Clark and other from U.S.A. and J.B Garnier and Pierre George in France
Pioneered this phase.

Population geography has widered 1ts scope to cover different variety of themes with time. It
studies wvarious population characteristics including gender, religion age. disability racrete
by grouping population characteristics into political and administrative umts. All such
variables go far bevond the vital statistics of births. deaths and marriage /migrations.

Geographers have studied relations between demographic growth, displacement and access
to resources at the International scale. Examples are density maps prepared using
choropleth, 1soline and dots.
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Which one of the following population characteristics does not belong to vital statistics?

(1) Births (2) Deaths
(3) Age and sex (4) Marriage /migration

et & & -2 SeEE fa S s A e T 2
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[Question ID = 500][Question Description = Q100_Geog_sh2_Set1_C]
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1 [Option ID = 1997]
2 [Option ID = 1998]
3 [Option ID = 1999]
4 [Option ID = 2000]



Topic:- GP14_A

1) Consider the following table which contain number of blood samples given in bracket
collected by a hospital to identify blood group in a particular month. Based on the data in the

table answer guestion.

= & e At w1 owerE o Teed R s g T OgE B 9A oA * T TR faem o

TFA TR T AT 1 EEA HEF ° A1 T8 7 | AR § 58 T SISl SR W U9 W 3o T |

Hospital | Hospital | Hospital | Hospital | Hospital
W X i Z

Reporte (1000) | (500) | (1000) | (500)
Blood group

A Poazitive 300 150 350 100

B Positive 350 100 300 100

A Negative 150 50 150 a0

B Negative 100 a0 50 150

Al | 3T | H5 AT | HM AT
W X Y @
(1000) | (500) | (1000) | (500)
300 150 350 100
350 100 300 100
A it 150 50 150 50
B =iz 100 50 50 150

Which hospital reported highest negative blood group?

(1) Hospital Y (2) Hospital X
(3) Hospital Z {4) Hospital W
(1) =Y (2) a7Enae X
(3) FHATE Z (4 FFEEE W

[Question ID = 4588][Question Description = Q01_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18352]
2. 2 [Option ID = 18353]
3. 3 [Option ID = 18354]
4. 4 [Option ID = 18355]

2) (Consider the following table which contain number of blood samples given in bracket
collected by a hospital to identify blood eroup in a particular month. Based on the data in the

table answer guestion.

Hospital Hospital | Hospital | Hospital | Hospital
W X ' Z
o ek (1000) | (500) | (1000) | (500)
Blood group
A Positive 300 150 350 100
B Positive 350 100 300 100
A Negative 150 50 150 a0




B Negative 100

H= 7 S Ao # A FTAEE R e gEl T YR W 9A o % o R e A |

UFA U THA—THAT I G HEF ° Gl S 2 | Al § 150 T SRSl $ HEE W oO9eT % 30 g |

W X N Z
(1000) | (500) | (1000) | (500)
300 150 350 100
350 100 300 100
AT 150 50 150 50
B =1ea 100 50 50 150

What 1s the percentage of A-Negative from the total number of blood samples collected?
(1) 14.22 (2) 18.00
(3) 13.33 (4) 14.33

T R 0 9 o 991 I T G O § A-Tifed F 6998 F fhad uiaed 27
(1) 14.22 (2) 18.00
(3) 13.33 (4) 14.33

[Question ID = 4589][Question Description = Q02_GP_01NOV_S1_SHAAN]

1. 1 [Option ID = 18356]

2. 2 [Option ID = 18357]

3. 3 [Option ID = 18358]
4. 4 [Option ID = 18359]

3) Consider the following table which contain number of blood samples given in bracket
collected by a hospital to identify blood group in a particular month. Based on the data in the

table answer question.

Hospital | Hospital | Hospital | Hospital | Hospital
W X X Z

Reporte (1000) | (300) | (1000) | (500)
Blood group

A Positive 300 150 350 100

B Positive 320 100 300 100

A Negative 150 50 150 a0

B Negative 100 50 50 150

H= 7 S Ao # A FTAEE R e gEl T YR W 9A o % o R e A |

UFA U THA—THAT I G HEF ° Gl S 2 | Al § 150 T SRSl $ HEE W oO9eT % 30 g |

W X N Z
(1000) | (500) | (1000) | (500)
300 150 350 100
350 100 300 100
AT 150 50 150 50
B 7itea 100 50 50 150




What is the ratio of A-positive cases to A-Negative cazes?
(1) 5:3 (2) 9:4
(3) 9:56 4y 5:4

(1) @)
(3) 4 5:
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[Question ID = 4590][Question Description = Q03_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18360]
2. 2 [Option ID = 18361]
3. 3 [Option ID = 18362]
4. 4 [Option ID = 18363]

4) Consider the following table which contain number of blood samples given in bracket
collected by a hospital to identify blood group in a particular month. Based on the data in the

table answer question.

Hospital | Hospital | Hospital | Hospital | Hospital
W X ¥ Z

Reporte (1000) | (500) | (1000) | (500)
Blood group

A Positive 300 150 350 100

B Positive 350 100 300 100

A Negative 150 a0 150 50

B Negative 100 a0 50 150

= # M At = werE o TAEd T s g T OHE A g9a o fen R faem o

A TR T THAT 1 HEA FEF § A1 T8 7 | AR § 58 T SRS S99 % S0 1 |

A | HAHAT | AJAFAET | AJAHATA

W X Y Z
(1000) | (500) | (1000) | (300)

300 150 350 100

350 100 300 100

A Fileg 150 50 150 50
B Tfea 100 50 50 150

What is the percentage of B-positive cases from the total positive cases reported?
(1) 48.57 (2) 47.57
(3)  49.51 4 46.11

i fu T T wifafea 4t & B-witatea e &1 gfaed e 27
(1) 48.57 (2y 47.57
(3) 49.51 (4) 46.11

[Question ID = 4591][Question Description = Q04_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18364]
2. 2 [Option ID = 18365]
3. 3 [Option ID = 18366]
4. 4 [Option ID = 18367]

5) Consider the following table which contain number of blood samples given in bracket

collected by a hospital to identify blood eroup in a particular month. Based on the data in the



table answer guestion.

Hospital | Hospital | Hospital | Hospital | Hospital

W X X Z

Reporte (1000) | (300) | (1000) | (500)

Blood group

A Positive 300 150 350 100

B Positive 320 100 300 100

A Negative 150 50 150 a0

B Negative 100 50 50 150

S &1 T8 Aot #1 AeEEA w TAEd R ST g T SR R 9A oA b o R e e |

UFA U THA—THAT I G HEF ° Gl S 2 | Al § 150 T SRSl $ HEE W oO9eT % 30 g |

W X Y Z
(1000) | (500) | (1000) | (500)

300 150 350 100

350 100 300 100

A Tt 150 50 150 50
B ieg 100 50 50 150

What 1s the percentage of blood group reported in the table?
(1) 82.12 (2) 83.33
(3) 84.33 (4) 84.12

Arfererr & fraid fohu v @ @gs =1 afawm e 27
(1 8212 () 83.33
(3) 84.33 (4) B84.12

[Question ID = 4592][Question Description = Q05_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18368]
2. 2 [Option ID = 18369]
3. 3 [Option ID = 18370]
4. 4 [Option ID = 18371]

Topic:- GP14_B

1) Which among the following is not related to the characteristics of co operative learning?
(1) Experiences that develop good learning and zocial zkills
(2) Students feel overloaded with too much work in groups
(3 Building positive relationships with students
(4 Provide individual attention and assistance to one another

faeafetiaa © o w1 "= SAtm i A 5 geiod 98 2 7

(1)  #7=2 w97 377 QI HI9 5 GHEd - T 999

(2)  feenefi om o st wE @ 7@ 30 TEgm =W

(3)  TaEnet = WY TETeEE gee A

[Question ID = 4593][Question Description = Q06_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18372]
2. 2 [Option ID = 18373]

3. 3 [Option ID = 18374]
4. 4 [Option ID = 18375]



2) The principle “Students learn together. but perform alone” 1s an example of :

(1) Individual accountability (2) Positive interdependence

(3) Face-to-face interaction (4) Group processing

“Tamneff Hfid wF w1 2w, Feated oe Fie 2 fagm e 3 3 e e 2t

(1) =afFaa =i (2) HEETHE AT
(3) AT B A S (4) THE TEEE

[Question ID = 4594][Question Description = Q07_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18376]
2. 2 [Option ID = 18377]
3. 3 [Option ID = 18378]
4. 4 [Option ID = 18379]

3) Mateh List I with List II

List1 Last II
Model of Teaching Developer
(A) Positive Interdependence (I)  Fannie Shaftel
(B) Structured inqguiry (II) David Johnson
(C) Role playing (III) Donal Oliver and James Shaver
(D)  Jurisprudential inguiry (IV) Robert Slavin

Choose the correct answer from the options given below :

(1) (A)-ID, (B)-AD). (C)-(IV), D)-D)
@ (A-aD, (B)-(IV), (C)-D). (D)-(ID
(3) (A)-(IV)., (B)-(D). (C)-(III), (D)-(ID
@ (A-D. B-II), (C)-(ID). (D)-(IV)

-1 % W F=-11 F1 e Fir
Gl 11
(A)  TFEEIHF AT @M R
(B) Wi 5= (ID)  =fas e
(C) i Faf (D) SFe st i 3w 3
(D) TafeerE == (IV) T e

= 50U U Tl § W HE 3 S 9 R

(1) (A)-(IID). (B)-(I1). (C)-(IV). (D)-(I)

(2) (A)-(IT). (B)-(IV). (C)-(T). (D)-(III)

(3) (A)-(IV), (B)-(T). (C)-(TIIT). (D)-(IT)

(4) (A)-(I). (B)-(III), (C)~(ID). (D)-{IV)
[Question ID = 4595][Question Description = Q08_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18380]
2. 2 [Option ID = 18381]

3. 3 [Option ID = 18382]
4. 4 [Option ID = 18383]

4) Which of the following methods are learner — centered teaching methods?
(A)  Active learning
(B) Co operative learning

(C) Inductive teaching and learning

(D) Paszive learning



Choose the most appropriate answer from the options given below :
(1) (A), (B). (C) only (2)  (B), (C), (D) only
(3 (A) and (D) only 4y (A). (C), (D) only

FfetEa @ | wF = fatee ge-Hed e A&t 2 7

(A)  TFETEE shEm

(B)  wEFHI s

(C)  APTHATEHS A 9 Al

(D) e srtam

H U U foshedl ® ° weE STET I =9 AT
(1)  =Fa= (A), (B). (C) (2) Fa4 (B). (C). (D)

(3)  ae (A) 3R (D) (4) =ae (A). (C). (D)

[Question ID = 4596][Question Description = Q09_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18384]
2. 2 [Option ID = 18385]
3. 3 [Option ID = 18386]
4. 4 [Option ID = 18387]

®) Various kinds of thinking are enhanced by particular models of teaching. Concept formation
1z one such model which trains to solve problems inductively. Identify the correct sequence of
stages for concept formation.
(A) Grouping items into categories with common attributes of members
(B) Identifying the topic / problem
(C) Developing labels for catergories

(D) Enumerating the data relevant to topic / problem

Choose the correct answer from the options given below :

(1) (A). (B) .(C). (D) (2) (B (C).&A). D)
(3) (B). (D), (A), (C) 4 (D). (A, (C). (B

steargd = fafoe wiset o fafay wen = = # gfg 29 2 | e = v T iss B S ST
FY H TR FEEE ] WEIAT 241 & | T AT % S0 9 WEl e o 9Ra i

(A) w3l HEE % WEE T AT H

it

(B)  Tam= /=g 1 qm=na

(C)  =ifor = fere wieer ferpta =

(D) Towm /owEn 4 9 ARS] AT

+r= fau v fomel § @ wF I F = Fife
(1) (A). (B) (C). (D) (2) (B). (C). (A). (D)
(3) (B). (D). (A). (C) 4) (D). (A), (C). (B)



[Question ID = 4597][Question Description = Q10_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18388]
2. 2 [Option ID = 18389]
3. 3 [Option ID = 18390]
4. 4 [Option ID = 18391]

) When a respondent 1s aware of being measured then its effect on his behaviour iz identified
as
(1) Self — consclousness (2) Reactivity
(3) Artificiality (4) Identity effect

% W I STAT SR T R HTY WM R SRR BT R, A1 399 SAaER W THT THTE R WA el e B 7

(1)  =mwH =@ (2) wfceraTeRsa
(3) Fma (4) dEHT T9E

[Question ID = 4598][Question Description = Q11_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18392]
2. 2 [Option ID = 18393]
3. 3 [Option ID = 18394]
4. 4 [Option ID = 18395]

) Summarising and interpreting primary studies related to the identified research question or
objective 1n a qualitative manner 1s called :
(1) Qualitative review (2) Realistic review
(3) Narrative review (4) Meta review
AfisTa 9Tg T AYET 359vA ° Hefud mufas wemmal w1 e A @ gn-gan Hi s w1 w5
AT HEl Sl R 7
(1)  Tomess gAiE (2)  FomeTT g
(3)  gamE THIET (4) =ty grET

[Question ID = 4599][Question Description = Q12_GP_01NOV_S1_SHAAN]

1. 1 [Option ID = 18396]

2. 2 [Option ID = 18397]

3. 3 [Option ID = 18398]

4. 4 [Option ID = 18399]

8) Which of the following techniques are used to control extraneous variables In research?
(A) Change of instrument
(B) Randomisation
(C) Matching

(D)  Removing variables

(E) Changing the research method

Choose the correct answer from the options given below :

(1) (A), (B), (C) only (2) (B), (C), (D) only
(3) (C). (D), (E) only (4) (A, (B), (E) only
g | ST =10 FEfEE #E  fou FAetafa | 9 e o g o g e e 27

(A) I T OREE

(B) TE=a®m
(C) T

(D) = H B2



(E) =i fafr =1 afafda =

3 i T e B 9 W e A

(1) a9 (A). (B) = (C) (2) Fa= (B). (C) 3 (D)
(3) @A (C). (D) 9 (E) (4) === (A). (B) #R (E)

[Question ID = 4600][Question Description = Q13_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18400]
2. 2 [Option ID = 18401]
3. 3 [Option ID = 18402]
4. 4 [Option ID = 18403]

9) Given below are two statements : One 1z labelled as Aszertion (A) and the other 1s labelled as

Reason (R) :

Asszertion (4):  Unique case orientation is possible in gualitative research which may later
lead to cross — case analysis.

Reasons (R) : Deszign flexibility is the hallmark of qualitative research as it is open to

situational changes.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 13 NOT the correct explanation of (A)
(3 (A) 1s true but (R) is false

4 (A) 1s falze but (R) is true

Hi= =t wue g e 2, v @iy (Assertion A) % ®9 o fefigd 2 91 gow 3@ R0 (Reason R) &

Ay (A) : TR 91E | 3 e wfatae w2 T we 6 we-uiE (w) favem g

AT 2 |

#1007 (R) : AT = TIEE T TR e 2 it e et w@edt aftads B wd
=
R

IWIE FHIA % AT 6, A= B T e @ 9 wd 3w =g Fifwo

1) (&) #F (R)IA 7§ AR (R), (A) Fi 78 =men 7

(@)  (A) =R (R) 3F1 & &, 9 (R), (A) F1 @8t =men 79 2
(3) (A= g, 9 (R) 38 2 |

@ (A s R, A ®) 7 2

[Question ID = 4601][Question Description = Q14_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18404]
2. 2 [Option ID = 18405]
3. 3 [Option ID = 18406]
4. 4 [Option ID = 18407]

10) Match List I with List II :



(&)
(B)

(©)

(D)

List I
Tvpe of validity
Face Validity

Concurrent validity

Construct

Predictive

List IT
Reflection
(I)  Indicates adequacy of instrument

(ID Indicates the extent to which the
measurement is used

(III) Compares a new test to an already
established test.

(IV) The extent to which a zcore on a scale

forecasts scores on same criterion

measure

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-II), (C)-(III). (D)-(IV)
(2) (A)-(IT), (B)-(I1L). (C)-(IV), (D)-(T)
(3)  (A)-(IID). (B)-AV). (C)-(I). (D)-(IT)
(4)  (A)-D). (B)-(II), (C)-IT). (D)-(IV)

T=H1-1 % @y =11 %1 foem Fifse
=1 g-I1
AT T THT e (frerer)
(A) TeEE (FE) dear d) ST I 9Tl F GEAE
(B) wHadl-aHT AD = F = w1
(C) = (IIT) = =0 wfiegor 1 qE-zanfua wfiao o g
D) wfa= ga+ (IV) Tt oot W TR whR Tam d T T

= f2u MU e 5 W EwE 3 S5 i
(1) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
(2) (A)-(IT). (B)-(III). (C)-(ITV), (D)-(T)
(3) (A)-(II), (B)-(AV), (C)-(I), (D)-(II)
4 (A)-@, (B)-IID). (C)-(ID), (D)-(IV)

[Question ID = 4602][Question Description = Q15_GP_01NOV_S1_SHAAN]

1. 1 [Option ID = 18408]
2. 2 [Option ID = 18409]
3. 3 [Option ID = 18410]
4. 4 [Option ID = 18411]

) This is me’ aspect of communication reflects :
(1) The audience preference (2) The speaker's perzonality
(3) The ego-centric attitude (4) The low level of confidence

T H AR H F gae] T WS Fr a7

(1) s =t st (2) = =1 =
(8)  w@-—hia g (@) aen fogama @ e =

[Question ID = 4603][Question Description = Q16_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18412]
2. 2 [Option ID = 18413]
3. 3 [Option ID = 18414]
4. 4 [Option ID = 18415]

12)

(A)

They should be aloof

The golden rules that communicators should follow are :



(B) They should take sides
(C) They must be heard
(D) They must be understood

(E) They must be appreciated

Choose the correct answer from the options given below :
(1) (A). (B), (C) only (2) (B), (C). (D) only
(3) (D). (E). (A) only 4) (C). (D), (E) only
(&) == faem = =tz
(B) I FE U T AR
(C) == 5 5 = |
(D) 3% HWe S = |

(E) 3= OO@ A = |

e 51 T faweal 3 ° w35 0 =Ee i

(1)  F3= (A). (B). (O) (2) == (B). (C). (D)
(3)  a= (D). (E). (A) (4) == (C). (D). (E)

[Question ID = 4604][Question Description = Q17_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18416]
2. 2 [Option ID = 18417]
3. 3 [Option ID = 18418]
4. 4 [Option ID = 18419]

13) Given below are two statements : One is labelled as Assertion (A) and the other iz labelled as
Reason (R) :
Assertion (A): Communication competence iz related to the power of knowledge in a
classroom.
Reasonsz (R) : Communication competence permits cholces of communicating as required

in the classroom context.
In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A4) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 12 NOT the correct explanation of (A)
(&3] (A) 1s true but (R) 1s not falze

4) (A) is falze but (R) is true

Fr= =t we few B, v @ifEee (Assertion A) % w9 o Tafigd 2 df g @S RO (Reason R)

AR (A) ; T | WU HEHAT T ol Aidd © Ftad @il 8 |

F (R) : HUYT HEAAT HAT o 24 ° AUTHT HUTT i o ey 92E il |



IUCRE YA AR |, 419 3 T e d g wd 3w == i

M) (AR R)FH T 7 AR R), (A) F T = 2

(@) (&) R R)FH 7 7, A (R). (A) F w7 =mwen 765 2
B) (AT, =R (R) 78T B |

4) (A ¥m= B, IR R) 9 2

[Question ID = 4605][Question Description = Q18_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18420]
2. 2 [Option ID = 18421]
3. 3 [Option ID = 18422]
4. 4 [Option ID = 18423]

14)

The sequence of elements in a classroom speech 15 :
(A) Introduction

(B) Description

(C) Feedback

(D) Clarification

(E) Conclusion

Choose the correct answer from the optlons given below :
(1) (A). (B), (C), (D). (E) 2y (B). (A). (C). (E), (D)

(3)  (C). (D). (A). (B). (E) @) (A). (B). (E). (C). (D)
FEATTA WA % TR dedl # T8 @9 ° 0

(A) &

(B) v
(C)  TAfHETE
(D)  agE
(E)  39HER

F= T T fa=edl 9 | wE 3 1 == e

(1) (A). (B), (C), (D). (E) (2)  (B). (A). (C). (E), (D)
(3) (C). (D). (A). (B). (E) 4) (A). (B). (E). (C). (D)

[Question ID = 4606][Question Description = Q19_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18424]
2. 2 [Option ID = 18425]
3. 3 [Option ID = 18426]
4. 4 [Option ID = 18427]

15) ateh List Twith Tist IT -



List I List IT

Scholar Communication variable
(A) Adi Shankara (I}  Importance of grammar
(B) Bharatha Muni (II) Concept of rasa’
(C) Panim (III) Use of native language
(D) Ramanuja (IV) Intra personal communication

Choose the correct answer from the options given below :
(1) (A)-(IV). (B)-(IT). (C)-(L). (D)-(I1I)
(2) (A)-(IT). (B)-(IIL). (C)-(IV). (D)-(T)

(3) (A)-(III). (B)-(IV). (C)-(I). (D)-(II)
(4) (A)-(D). (B)-(ID). (C)-(I1I). (D)-(IV)

TH-1 % Ty gI-11 =1 foes =it

i1 g=i-11
fagm T =
(&) =z d) = AR
(B) wd gH D) ‘& i e
(C) wrfora (IIT) 2uft s =61 o
(D) TS (AV) @idaaths Foa

Hr= f2u o fawet 9 ® wE 3w =9a FifEn
(1) (A)-(IV). (B)-(ID), (C)-(I). (D)-(III)
(2) (A)-(ID. (B)-(III). (Cy-(IV). (D)-(I)
(3) (A)-(III). (B)-(IV). (C)-(I). (D)-(II)
(4) (A)-(I), (B)-(ID). (C)-IID). (D)-(IV)

[Question ID = 4607][Question Description = Q20_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18428]
2. 2 [Option ID = 18429]
3. 3 [Option ID = 18430]
4. 4 [Option ID = 18431]

16 C o o .
) The number which 1g nearest to 3105 and exactly divisible by 21 15 :
(1) 3101 (2) 3108
(3) 3087 (4y 3107

St § #3105 Fi fepzaw @i 21 g gt faarss e # = 27

(1) 3101 (2) 3108
(3) 3087 (4) 3107

[Question ID = 4608][Question Description = Q21_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18432]
2. 2 [Option ID = 18433]
3. 3 [Option ID = 18434]
4. 4 [Option ID = 18435]

17)  Given below are two statements :

Statement I: To convert a speed given 1n m/s into a speed in km/h, we multiply with 5/18.

Statement IT: To convert a speed given 1n km/h into a speed in m/s, we multiply with 18/5.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3 Statement I is correct but Statement IT is incorrect
(4) Statement I 1s incorrect but Statement II 12 correct

fa T Frw E -



FoF (I):  Hier/Tme 8 9 e 91 5 {H /g =9 6 see & o 79 5/18 H T A 7 |
FoA (1) : T feizr § &1 2 =re ) dier /o = 4 sger & fow 29 18/5 9 1on 1 2 |

ST HYA * AT °, A= oo T e | 1 e I I = i
(1) FHa IR IaE o8 2 |
(2)  Fea 1w =A 74 2 |
(3) A LA 2, 9 weA 1L 7em 2 |
(4) ¥ L7 2, A e [ 7
[Question ID = 4609][Question Description = Q22_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18436]
2. 2 [Option ID = 18437]

3. 3 [Option ID = 18438]
4. 4 [Option ID = 18439]

18 ; :
) How many terms are there in the following sequences?
A B . 4096
(1) 12 2y 13
(3) 14 4 15

Hr= fau s o R 0 £7

L5258 B e cnessmsnmsinnints 4096
(1) 12 2y 13
(3) 14 4 12

[Question ID = 4610][Question Description = Q23_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18440]
2. 2 [Option ID = 18441]
3. 3 [Option ID = 18442]
4. 4 [Option ID = 18443]

19) S
[ T
The value of 1,|l'51...'15\|"5~1{5.... (oo times)
1 5 2 6
(3) 45 (4) 6.78

Ij
5V 5Y5Y5.... (o0 ) 1 AT = A
H b5 2 6
(3) 4.5 4y 6.78

[Question ID = 4611][Question Description = Q24_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18444]
2. 2 [Option ID = 18445]
3. 3 [Option ID = 18446]
4. 4 [Option ID = 18447]

20) Riatal Taut Twith Tanb Il

ListI List IT
(A) Supplementary angles (Il Angles lesz than 90°
(B) Complementary angles (IT) Two angles whose sum is 180°
(C) Acute angles (ITI) Angles greater than 90° but less than
180°
(D) Obtuse angles (IV) Two angles whose sum 13 90°

Choose the correct anzwer from the options given helow :



(1) (A)-(IID). (B)-(ID). (C)-(D). (D)-(IV)
(2) (A)-(IV), (B)-(ID). (C)-IID). (D)-(D)
(3) (A)-(ID). (B)-(IV), (C)-(D). (D)-(I1II)

(4) (A)-dI). (B)-(IV). (C)-(ID). (D)-(D)

-1 % |y ge=Ai-11 1 faem ifae -

g1 g1l
(A)  HFF F @ 90° ™ =H F F:m
(B) I F7 (D) = Fo e 3 180° BT 2
(©) = FHm (II1) 90° % =fers fomg 180° & 1 % =i
(D) fe® = (IV) 3t =i fmn =7 90° BT £ |

i fou 7o famrel 9 © @E 39 =9I i

(g (A)-(TII). (B)-(II). (C)-(I). (D)-(IV)
(2) (A)-(IV). (B)-(II). (C)-(I1D). (D)-(I)
(3) (A)-(ID), (B)-(IV), (C)-@D). (D)-(IID)
(4) (A)-(IT), (B)-(IV), (C)-(III), (D)-(T)

[Question ID = 4612][Question Description = Q25_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18448]
2. 2 [Option ID = 18449]
3. 3 [Option ID = 18450]
4. 4 [Option ID = 18451]

21 ;
) Given below are two statements :

Statement I: There is greater stress laid on the material aspects of inference by the
exponent of Nvaya system.

Statement II : There 1s greater stress laid on the format aspect of the syllogistic expression
in western logic.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II is false
(4) Statement I iz false but Statement IT i= true

Fod (I): =178 Ugid = =AM g1 3F * Gifas Tege W afas s T A 2
Fo (I) : TTT=Ted % | —Aah] Afqeatad & ATHeR Tee W S 9 e # |
IR A ATEE 4, A= B T e A @ wE 3w o = i
(1)  ®%a I3 I3 8ea 2 |
2) A IR 12 578 |
(3) A 1@ 2, it =y 11 3@ 2 |
(4) w1 wEea B, it e [Lae 2 |
[Question ID = 4613][Question Description = Q26_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18452]
2. 2 [Option ID = 18453]

3. 3 [Option ID = 18454]
4. 4 [Option ID = 18455]

22) (Given below are two statements :

Statement I: The evaluation of an argument invelves two steps namely evaluating the link
between premises and conclusion and evaluating the truth of the premises.

Statement II: Deductive arsuments in which the conclusion actuallvy follows from the



premises are said to be valid. and those that also have true premises are
said to be sound.
In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 12 true but Statement I 1s false
(4) Statement I 12 false but Statement II 1s true
2 o fag mu #

FoA (I): Tl 95 & Toamha § 31 =0 WS Bid 7 A9 En-TEE SR e & e mwg @

o (1) :  Fearens a5, T Fepd sman—aal § andias =9 8 el 2, 949 % 96 7 A7 9

snaT-ar#a i wen 74 £ 9 gag a% e o 2 |

I YA AT 4, e B T EeeT | 9 ®E 39 0 = i

(1)
(2)
(3)
4)

A 1 2R 1121 &ed 2 |

Fe I &R I1 3 /@ & |

Fe [ Hex 2, A %97 I s@ea 2 |
e [ 78T 7, o %o [Ta 2

[Question ID = 4614][Question Description = Q27_GP_01NOV_S1_SHAAN]

A wWw N =

1 [Option ID = 18456]
2 [Option ID = 18457]
3 [Option ID = 18458]
4 [Option ID = 18459]

23 ‘ ; ; : : : :
) When 12 a series of terms said to be in the order of increasing extension?

(A) When each term in the series (except the first) denotes a class having more members

than class denoted by the term preceding it.
(B) When the class size gets larger with each successive term.

(C) When each term in the series (except the first) denotes a class having less members

than the class denoted by the term preceding it.

(D) When the class size gets smaller with each successive term

Choose the most appropriate answer from the options given below :
(1) Only (A) and (B) are correct (2)  Only (B) and (D) are correct

(3 Only (C) and (D) are correct (4y  Only (A) and (D) are correct

Tl T-2mgeT 1 Sigd 5U FH § e 0 A1 A 7

(A)

(B)

(C)

(D)

(1)

Ll 3

5o FEE H UeA®E Ug (WAH 95 F1 BisH) HOH qaadi ug grn i W 6 wtas e A =1 w6

= T FT HFE TAF Seeradl U5 5 w91 A A A |

9 A H e UG (WUH UG Bl SISH) 39 qdad! 9g g e et 7 |

54 T F AR TeAF Ieoead] U2 4 B2 2 A6 2

feu o fa=edl § | T8 39 5 99 e
Fael (A) w6 (B) 581 7 (2) === (B) ®7 (D) =41 =

B h, T . LGN . | AN o Iy e e S L -



W S CiaL b S e et el T Y R L B b s CHESRARE A WER N WA OARLTE 2

[Question ID = 4615][Question Description = Q28_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18460]
2. 2 [Option ID = 18461]
3. 3 [Option ID = 18462]
4. 4 [Option ID = 18463]

24 : ; ; ; %
) In case of anumana (inference) i1dentify the sequences of five steps of syvllogistic argument

according to Nyaya:

(A) The mountain has fire

(B) The mountain also has smoke accompanied by fire, like kitchen
(C) Therefore the mountain has fire

(D) Because of amoke

(E) Wherever there 1s smoke, there is fire, as in the kitchen

Choose the correct answer from the options given below :
(1) (A)., (B), (D), (E). (C) 2y (A, (D), (E). (C), (B)

(3) (B). (D). (E). (A). (O) (4) (A D). (E). (B). (C)

SIEH % W H = AGAN AT g6 S 91 =10 A wAEn 1

(A) TWEEBEATEI

(B) @R TE TEIS WA Ty gor o 2
(C)  sHlC WeTS W &I & |

(D) v % Fw |

(E) W&l g7 33a1 & J51 A7 Bl 2 o7 % e 8 e 2

= fau o fomeai § O gew 39gEd SO T =9h HIA

(1) (A). (B). (D), (E). () (2) (A (D). (E). (C). (B

(3 (B). (D). (E). A (© 4 (A, D). E). B).(©)

[Question ID = 4616][Question Description = Q29_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18464]
2. 2 [Option ID = 18465]
3. 3 [Option ID = 18466]
4. 4 [Option ID = 18467]

25 :
) Given below are two statements :

Statement I: Relationship of invariable concommitance (vvapti) can be claimed to exist
between two things if they are causally related.

Statement II: Relationship of invariable concommitance can be claimed to exist between
two things if they are related as species-genus.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement 1T are true
(2) Both Statement I and Statement II are false
(3 Statement I 12 true but Statement IT 1= falze

aw T e q oy e L



=) wlalelllelll 1 ls Lalse DUL olalelllelll 11 1s LTUe

= =1 o fam o E

o (I): A 2 F F o FE-FE Geg w2 Al S 3 % S Hd aweEn (=) w5 A
AT AT R

Fom (1) : 3z & Fisdi F = swfa-aw F =9 F Gy w9 2 @ I F A= FEa w6y
THT A E

IYTE HE % A 4, g e e e | 8 wg 3w w0 w3 Fia

(1)  =9a IR I15H1 5e9 2 |

(2) wE IAR 1M S| e & |

(3) =¥ 147 2, A F9F 11 2w 2|

(4)  FuH 13 7, =i F9A I a7 |

[Question ID = 4617][Question Description = Q30_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18468]
2. 2 [Option ID = 18469]
3. 3 [Option ID = 18470]
4. 4 [Option ID = 18471]

26) 1n computers ASCII stands for :

(1) Algorithm Selection Code Information Interchange

(2) Asympatatic Sorting Code Intermediate Interface
(3) American Standard Control Information Interchange
(4) American Standard Code for Information Interchange

Fget H wug ot o o7g (ASCIL) %1 0 8 = 27

(1)  TTINES O IS SR e

(3)  oimfeRa S Fge THETE

(4) ST E3E FS TR FHEE ST
[Question ID = 4618][Question Description = Q31_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18472]
2. 2 [Option ID = 18473]

3. 3 [Option ID = 18474]
4. 4 [Option ID = 18475]

27) A reputed company employed Mr. Harsh to manage and maintain their networking
architecture and wide area connectivity. Which of these best describes his job profile?

(1) Programmer (2)  Architect

(3) Networking engineer (4) Web designer

Torelt ufeTed ol 3 31 Azaten AR TEar. A A15s UET FAFE W ueE AN g+ e 4 5

=i A=t o @ | Fefefga | @ SiH-a1 36 gauged s e g0

(1) T (@) M (W}
(3)  eatE e (4) a9 fs e

[Question ID = 4619][Question Description = Q32_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18476]
2. 2 [Option ID = 18477]
3. 3 [Option ID = 18478]
4. 4 [Option ID = 18479]

28) Given below are two statements :



Statement I: Operating system 1s a set of program necessary to carry out operation for a

specified application.

Statement II : Hardware represents the physical and tangible parts of the computer.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement I1 1s false

(4) Statement I 1= false but Statement II 1= true

e g wm e # .

Fub (I): oA we fimen i fafie veimem % o= & &0 smavas our &1 02 56 2 |
Fd (II) : TSP Foet % Hifesh #1T qd 9 = 390 & |

SR FUF % A §, 49 B e fFweul § | @8 39 1 =5ga i

(1) = lsrIlaaias? |

(2) e I3 I 2T 1Eed 2 |

(3) Fy Iom 2, fF e [ ama B

(4) A I HA°cT B, Wi A 1 aeT 2 |

[Question ID = 4620][Question Description = Q33_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18480]
2. 2 [Option ID = 18481]
3. 3 [Option ID = 18482]
4. 4 [Option ID = 18483]

29) Multimedia files are the documents that contain a confirmation of :
(A) Text
(B) Photograph
(C) Video
(D) Computer
(E) Audio
Choose the correct answer from the options given below :
(1) (A). (C). (D) only (2) (A}, (B). (C). (E) only

(3) (A). (B). (C), (D) only 4) (B). (C). (D). (E) only

R HITSa FIEed § 25aTdd & (990 HEAfetiEd 1 J4reE 5 8

(A Tz (m)
(B)  FREETE
(C) itz

D) FIX



(E) =it

= oo o Tl | | TF I oW 99 fifee
(1) =& (A). (C). (D) @ == (A). (B). (C). (E)

(3) =3 (A), (B). (C). (D) (4) === (B), (C), (D). (E)

[Question ID = 4621][Question Description = Q34_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18484]
2. 2 [Option ID = 18485]
3. 3 [Option ID = 18486]
4. 4 [Option ID = 18487]

30) :
Given below are two statements :

Statement I: A Webinar allows a speaker from the hosting organization to share
multimedia content with audiences that can be located any where.
Statement IT: A Webinar allows speaker and participants to share multimedia content

located any where.

In the light of the above statements, choose the most appropriate answer from the options

given helow :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3 Statement I is correct but Statement II 1= incorrect
(4) Statement I 1s Incorrect but Statement II is correct

= = FuF ffo o E

Fo ([):  ATFR = H1598 @ BoE Sa 1 A9 A i T W A4S o9 A aedmisa Heaae

=1 OT F TFA 7 |

For (1) : AFR F 71599 | a5 o7 afaaril et = W safem gz Team # am #=
T 7 |

IHAF FUH F EAF H, A 50 T @we § § w6 39 I A 96 i

(1) 7 I3 [ oA 78 2 |

(2)  F [ AT II5H Tea 7 |

(3) o 199 2, wife wo Il Ted 2 |

(4) Foe 1T 2, wi w5 T8 7 |

[Question ID = 4622][Question Description = Q35_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18488]
2. 2 [Option ID = 18489]
3. 3 [Option ID = 18490]
4. 4 [Option ID = 18491]



31)  Which of the following are characteristics/properties of permanent hardness in water?
(A) Presence of bicarbonates of calcium and magnesium
(B) Prezence of sulphates of caleium and magnesium
(C) Forms good lather when comes in contact with soap
(D) Presence of chloride of calcium and magnesium

(E) Can be removed by boiling the water

Choose the correct answer from the options given below :
(1) (B). (C) and (D) only (2) (A) and (D) only

(3) (A). (B). (D) and (E) only (4) (B)and (D) only

et H T A i FetatEa 8 @ e b e/ E7

(A)  Ffewmm 27 HFEREe & sEEEEeE $i e |

(B)  fewmm oit #fafiam & oeven & famaran |

(C)  oEA % A50F § 7 W 95 F0 300 A |

(D)  “hiewm i Ay + wass i fmea

(E) 30 w1 =1 S&Terehd g1 a1 =1 Hehal 2 |

= fou o fomedl § W HeE ST 36T 1 99 SHITAT

(1) == (B). (C) 3T (D) (2) FFF (A) =71 (D)
(3) == (A). (B). (D) # (E) (4) == (B) # (D)

[Question ID = 4623][Question Description = Q36_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18492]
2. 2 [Option ID = 18493]
3. 3 [Option ID = 18494]
4. 4 [Option ID = 18495]

32) The Environment (protection) Act. 1986 was the result of India’s commitment. to take
appropriate action for the protection and improvement of environment. at the :

(1) 1985 Vienna convention for protection of ozone layver

(2) Convention on long range trans boundary air pollution. 1983

(3) Convention on international trade in endangered species. 1975 (CITES)
(4) United Nation's Conference on the human environment. Stockholm. 1972

W] (FE) sAtatEm, 1986 Fetatad 5§ e aeea § 9Eie & G S gan 29 StEd e
T = 7T AW =i Widsgan 1 g 917

(1) TS WA = W& % o0 gz weaee, 1985

(2) s gl % HE-un 91y ugem W =9, 1983

(3) oAU A % AEEE e W s, 1075 (H e # 2 wm)

(4) e TATEET O SEFd 1P 95eE S=REE, 1072



[Question ID = 4624][Question Description = Q37_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18496]
2. 2 [Option ID = 18497]
3. 3 [Option ID = 18498]
4. 4 [Option ID = 18499]

33)

To characterize hazardous waste following characteristics are taken into account :
(A) Conductivity

(B) Ignitability

(C) Corrosivity

(D)  Magnetic succeptibility

(E) Reactivity

Choose the correct answer from the optlons given below :

(1) (A). (B). (C) and (E) only (2)  (B), (C) and (E) only
(3) (A). (C) and (D) only (4) (B). (C). (D) and (E) only

EEETF IR F ATHAST 0 % 0 a5 | i = e W EEn e e e

(A)
(B)
(C)
(D)
(E)

ElgEn
THEFT

#i= fau U e | | wE IO R 99 AT

(1)
(3)

4 (A). (B). (C) 3T (E) (2) == (B), (C) 31 (E)
Fae (A). (C) 31T (D) (4) == (B). (C). (D) 371 (E)

[Question ID = 4625][Question Description = Q38_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18500]
2. 2 [Option ID = 18501]
3. 3 [Option ID = 18502]
4. 4 [Option ID = 18503]

34)

Y-

(1)
(2)
(3)
4)

Poly crystalline zilicon often used in Photovoltaic cells as semiconductors are :

(1) Many individual crystals with different orientations

(2) Many individual crystals with similar orientations

(3) Amorphous silicon converted to erystal silicon

(4) Crystal silicon grown in laboratory

IF B9 A FiCEeeE Go8 § T TE 7 G sg- e (Tiel ) e 2

9= s7ivfa=mm T Taa-Tam e
o A -fa=ra o faa-fam e |
[ 3

e (e =1 3R [EEFE d TRaad 2 =41 7l

TR § {3 e T e oo |

[Question ID = 4626][Question Description = Q39_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18504]
2. 2 [Option ID = 18505]
3. 3 [Option ID = 18506]
4. 4 [Option ID = 18507]

35)

What 1s the correct sequence of prescribed limits in residential areas of 24 hourly averaged
following pollutants by Central Pollution Control Board of India?

(A) PM 25

Fa =% T\ T 11y



L L avd LS
(C) S0x
(D) Pb

Choose the correct answer from the options given below :
(1) Pb = S0x> PM10 > PM 2.5 (2) PM10=PM2.5=30:z=Pb
(3) PMZ2.5 = PM10> Pb = S0 (4) PMI10 = 50:z=>PM2.5 =Pb

AT % HZE T A 918 gw fAfafaa ggee = srEnE g #2452 % aun W e ™

(A PM25
(B) PM10
(C) S0x
(D Ph

Hr= fau T et § @ meE SugEd S R 99 i
(1) Ph = 50:= PM10 = PM 2.5 (2) PM10=PM2.5=50:=Ph
(3) PM2.5 = PMI10=> Ph = SOy (4) PMI10 = SOy > PM2.5 = Phb

[Question ID = 4627][Question Description = Q40_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18508]
2. 2 [Option ID = 18509]
3. 3 [Option ID = 18510]
4. 4 [Option ID = 18511]

36) Which among the following is NOT the responsibility of UGC?

(1) To regulate gquality of higher education.

(2) To maintain discipline in campuses of institutions of higher education.
(3) To fund research projects of faculty
(4) To suggest model curriculum to the universities

Freaferfa § & 721 3 o & F1 a4 27
(1)  3== foren g qoraan
(2)  v=a foem grenatt & ufeml ® agemEe s

(4)  TavafammeEt =1 Aise wEg=A w1 gIE 2

[Question ID = 4628][Question Description = Q41_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18512]
2. 2 [Option ID = 18513]
3. 3 [Option ID = 18514]
4. 4[Option ID = 18515]

37) Match List T with List I :
ListI List IT
Personality Domain
(A) Rabindranath Tagore (I»  Physlcs
(B) S.Chandrashekar (IT) Literature
(C) Manjul Bhargava (III) Economics
(D) Amartya Sen (IV) Mathematics

Choose the correct answer from the options given below :
(1) (A)-(IT). (B)-(I), (C)-(IV), (D)-(III)
(2) (A)-(IV), (B)-(IID). (C)-(I). (D)-(IT)
(3) (A)-(I). (B)-(II). (C)-AIV). (D)-(I1I)
(4) (A)-(III). (B)-(I). (C)-(IV). (D)-(1I)

o= -1 T =11 =1 foerm Fif



FH1 I

=it e

(A) Ty 2 (I) it
(B) vH T (D) =fEe
(C) #aw wrA (IIT) A
(D) e =9 (IV) i
1= fou v e | ° gE 3 = i

(1) (A)-(IT). (B)-(I). (C)-(IV). (D)-(I1T)

(2) (A)-(IV). (B)-(III). (C)-(T). (D)-(II)

(3) (A)-(I). (B)-(IL), (C)-(IV). (D)-(I11T)

4) (A)-(III). (B)-(I). (C)-(IV). (D)-(ID)

[Question ID = 4629][Question Description = Q42_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18516]
2. 2 [Option ID = 18517]
3. 3 [Option ID = 18518]
4. 4 [Option ID = 18519]

38) Given below are two statements : One is labelled as Assertion (A) and the other 12 labelled as

Reason (R) :

Asszertion (A):  There are regional variations in the quality of education provided by the

institutions of higher education.

Reasonsz (R) : Institutions of higher education cannot be compared as they cater to the

needs of different social groups of students.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(L
(2)
(3)
4

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(A) 1s correct but (R) 1s not correct

(A) 12 not correct but (R) 1s correct

+i= 2 YA faT T v Wi (Assertion A) % ®9 ¥ foifEd # 4 T 0% F00 Reason (R) =

-
A (A) - = foren geana grn wew fven 1 quEm 4 anfir fafean 2
T (R) : I forem wEomaT i g1 AR S o @Rl & FAiE 3 Tt = fae-fae ot

gzl i ATETERAA i gid Hl # |

IUHF FHU ST § A 4 T fawedl § # geH S9gT 3T H1 99 IS0

(1

(2)

(3)

(4)

(A) 31 (R) 2T @81 3 01 (R). (A) i a1 =9 2 |
(A) 3R (R) 21 =8 &, = (R). (A) =1 =& = 76 2 |
(A) TET 2 =i (R) @8l 8 2 |

(A) TEt 791 & |fF (R) 92t 21

[Question ID = 4630][Question Description = Q43_GP_01NOV_S1_SHAAN]



1 [Option ID = 18520]
2 [Option ID = 18521]
3 [Option ID = 18522]
4 [Option ID = 18523]

A W N -

39)  Which among the following are the types of Universities existing in India currently?
(A)  Community University
(B) Deemed University
(C)  Research University
(D) Central University

(E)  Private University

Choose the correct answer from the options given below :
(1) (A). (B), (C), (D) only (2)  (A), (B). (D). (E) only

(3) (B). (D). (E) only (4)  (A), (C). (D) only

FAHH § FeEfEiEd 8 FiA-F19 O TFE F SvaEeed 96d | HeEE 27
@A) aERE et
(B)  mAi+a fevataeE

(C) g TavataEe=

(D) w2 favatrnaa

(E) et AvaEaed

F= fav o fa=e 9 9 TE I #1999 S
(1)  Fa4 (A). (B), (C). (D) (2) === (A), (B). (D), (E)

(3) =& (B). (D). (E) 4) =HF= (A), (C). (D)

[Question ID = 4631][Question Description = Q44_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18524]
2. 2 [Option ID = 18525]
3. 3 [Option ID = 18526]
4. 4 [Option ID = 18527]

40) Given below are two statements :

Statement I:  Modern Universities in India were established first during colonial period.

Statement II : The British government were genuinely Interested In expanding the

Institutions of higher education in India.

In the light of the above statements. choose the most appropriate answer from the options

given below :



(1) Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II is incorrect
(4 Statement I 1s incorrect but Statement II 12 correct

= g e few o

F9= (I):  aFd 3 ATgEE [Svaiaaed i \ueeT §Eus S9HETE e ¥ 53 9|

F= (1) :  Teael wehr 6 9ra § z=9 foen gene w3 awag | =6 o)

I FU FAEE 5, A fow T faewt § § 59 3ug I 6 =9 i
(1) a1 T2 |8 2 |

(@) A I3 I3 e 2 |

(8) w0 1T 2, wifeh e 117 2 |

(4)  FEA 1A B, wied wee [LEEr 2

[Question ID = 4632][Question Description = Q45_GP_01NOV_S1_SHAAN]
1 [Option ID = 18528]
2 [Option ID = 18529]
3 [Option ID = 18530]

A w N =

4 [Option ID = 18531]

Topic:- GP14_C

1)

Read the passaze and answer questions.

The world over. leisure time has increased tremendously since World War II. In this time
period. social problems and maladies have also increased. Frustrations. nervous break-
downs. broken marriages. alcoholism and crime rates are directly related to too much time
with nothing to do. Combine this with the permissiveness that has permeated our culture
and the attitude of doing just enough to get by. and the problems are multiplied workers
often lose pride in thelr workmanship and their performance begins to go down. When
performance goes down. shoddy merchandise is produced. and shoddy Merchandise does not
find a ready market because consumers anvwhere demand quality. They turn to foreign
imports and the local producer is caught in the squeeze by lowered sales volume. Every
nation must resell the idea of performance and honest effort for an honest day’s pay. Surely
the world owes us a living. but we have to work for it. We have to reverse the philosophy of
doing little and collecting much or we will be caught in the pinch of pricing ourselves out of
quality products and services. The only plan that is going to work over the long haul is an
internal change in our philosophy. We must produce the qualityv merchandise people
demand. at the right price or the consumer will turn more and more to imported products.
Fortunately. we can do this. we say this without any mental reservation. because the local
worker, under controlled tests. has consistently out produced his counterpartz on project
after project. Better quality means better price. Honest efforts. not higher tariffs iz the
solution to the problem.

fodta fava 35 & gopl fava @ ‘e & & °H weteE w9 9 gl 552 | 59 GEAEtg B e
aEEEl S wEaE ¥ i seiel # T R | Fe1, AEiEE daed @ da, Haw-faesa, e # s
ZE1 FN ATE T, g5a AGE GG 26 F @Y F FS A T b [0 A2 24 6, HY q6 W Feiga 2| 56
THTEAAT F WY STeA B e 29 oEpl i gers a2 Feae i sEmer | e e we i o




% o0 SOFERE T F f9ER [ TEid 590 | Hived =9 9 [Jva aneiiEe imH w6 F o e 2
Tl T ATt AT SR T F A qod W 5 F FEAE 5 B4 oF | Fae Fal Ao 91w 5e
& T W FE FH A F 2 R e 0 UF A 95ed | 76 96 A 3 ged W osadie i o
AT UTECATE S 1 IeAIET BT ET AYET ITATFE S S A B A A0 e w9 " e e
ST 1 wEfen 1 IHAG T 2 AR S w2 U w6 R | AiuE R e wEEeed 8 Hed qene
I U W 2l 2 # e (e e uny = S 2 ) S o e war ® a9 w0 a0 sene
I 7 HAT T S U ST S TEl ST w21 F610 SUEEET Ted® SR el S T 2 | A
SusTEAT fanell SAEal i T 397 7 AW 2 S A S 9% 1 A B FE 9 o ° o9E § 6
AT 2 | FHE AT FGAT H q0F AHNTH SO0 ANMPT W 20 3H H Ohd 2| 74 3H TS TR
HEGE AT % A 7, FH 96 T & e TAEE A SRS -g-aiE s S g
H TTER AGF IAEA FA1 2 | ToF oA F Ages 359 FiEd # | SHEGR T A F 3= e w

Too much leisure time will rezult in :
(1) More productivity (2) Scope for recreation

(3) More social 1zsues to solve (4) Increased permissiveness

wgT g FET F &9 F GO w6

(1) AleF IeTEEHAT (2) AR 1 faen
(8)  Toamm % fou sfas gmfss g8 (4) = 5E FEEE

[Question ID = 4633][Question Description = Q46_GP_01NOV_S1_SHAAN]
1 [Option ID = 18532]
2 [Option ID = 18533]
3 [Option ID = 18534]
4 [Option ID = 18535]

A W N -

2) Read the passage and answer gquestions.

The world over. leisure time has increased tremendously since World War II. In this time
period. social problems and maladies have also increased. Frustrations. nervous break-
downs. broken marriages. alcoholism and crime rates are directly related to too much time
with nothing to do. Combine this with the permissiveness that has permeated our culture
and the attitude of doing just enough to get by. and the problems are multiplied workers
often lose pride in thelr workmanship and their performance begins to go down. When
performance goes down. shoddy merchandise is produced. and shoddy Merchandise does not

find a ready market because consumers anvwhere demand quality. They turn to foreign
imports and the local producer is caught in the squeeze by lowered sales volume. Every
nation must resell the idea of performance and honest effort for an honest day’s pay. Surely
the world owes us a living. but we have to work for it. We have to reverse the philosophy of
doing little and collecting much or we will be caught in the pinch of pricing ourselves out of
quality products and services. The only plan that is going to work over the long haul is an
internal change in our philosophy. We must produce the qualityv merchandise people
demand. at the right price or the consumer will turn more and more to imported products.
Fortunately. we can do this. we say this without any mental reservation. because the local
worker, under controlled tests. has consistently out produced his counterpartz on project
after project. Better quality means better price. Honest efforts. not higher tariffs iz the

solution to the problem.

o= fova 95 @ ool fava & ‘w0 F &m0 ° et 9§ Aghddl 53¢ | S9 OvEElg O A
el A Sl | W Sl 7 T 2| Fa1, qEEeE gger @ S, Eem-rese, e # A

ZE1 FN ATE T, g5a AGE GG 26 F @Y F FS A T b [0 A2 24 6, HY q6 W Feiga 2| 56
THTEAAT F WY STeA B e 29 oEpl i gers a2 Feae i sEmer | e e we i o

% ToI0 SHFER wa % T =0 W =i won | e =9 8 favg snsitasn vee e % e e 2
Tl O ATAl FGAT R TATAT F FTE God W 5 F FEAE G BT o | FA FA A J1 A" 59
% A W FE T A TE EFAN WgE H UF AN 95Ad & | 76 SEvd Al 39d 9o W SaHEE #1 50




e TR S 1 SedE BT BT SUET A1 O SE 361 A e e T 7 e =
S, i TFfed F SIEA F 2 ST T T A6 T 2 | A @ A SEEeed § FiEd S
I U W 2l 2 # e (e e uny = S 2 ) S o e war ® a9 w0 a0 sene

I 7 HAT T S U ST S TEl ST w21 F610 SUEEET Ted® SR el S T 2 | A
SusTEAT fanell SAEal i T 397 7 AW 2 S A S 9% 1 A B FE 9 o ° o9E § 6
AT 2 | FHE AT FGAT H q0F AHNTH SO0 ANMPT W 20 3H H Ohd 2| 74 3H TS TR
HEEF AREU F FAG 2, FE HEEE GAT F AR TEE A0 SRS -aiEe 9 aewal
H TTER AGF IAEA FA1 2 | ToF oA F Ages 359 FiEd # | SHEGR T A F 3= e w

When the local products are of sub-standard quality. the consumers will prefer :

(1) Imported goods (2) Paying more for quality products

(3 To indulge in more leisure activities (4) To avoid the intended buying

e T TeE -t i e o 5 At ST B TEe B2

(1)  wfaa =%ge (2)  TIHEATIE AT % U SAE E@E wE
(3)  wferr g areh nfafafer § wfis mn) (@) snfie wfeed = A

[Question ID = 4634][Question Description = Q47_GP_01NOV_S1_SHAAN]

A W N -

3)

1 [Option ID = 18536]
2 [Option ID = 18537]
3 [Option ID = 18538]
4 [Option ID = 18539]

Read the passaze and answer questions.

The world over. leisure time has increased tremendously since World War II. In this time
period. social problems and maladies have also increased. Frustrations. nervous break-
downs. broken marriages. alcoholism and crime rates are directly related to too much time
with nothing to do. Combine this with the permissiveness that has permeated our culture
and the attitude of doing just enough to get by. and the problems are multiplied workers
often lose pride in thelr workmanship and their performance begins to go down. When
performance goes down. shoddy merchandise is produced. and shoddy Merchandise does not
find a ready market because consumers anvwhere demand quality. They turn to foreign
imports and the local producer is caught in the squeeze by lowered sales volume. Every
nation must resell the idea of performance and honest effort for an honest day’s pay. Surely
the world owes us a living. but we have to work for it. We have to reverse the philosophy of
doing little and collecting much or we will be caught in the pinch of pricing ourselves out of
quality products and services. The only plan that is going to work over the long haul is an
internal change in our philosophy. We must produce the quality merchandise people
demand. at the right price or the consumer will turn more and more to imported products.
Fortunately. we can do this. we say this without any mental reservation. because the local
worker, under controlled tests. has consistently out produced his counterpartz on project
after project. Better quality means better price. Honest efforts. not higher tariffs iz the
solution to the problem.
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The 1dea of honest performance iz linked to :

(1) Higher Prices for local products

(2) Earning an honest day's pay

(3) Lesz work and more returns

(4 Pricing out quality products and services
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[Question ID = 4635][Question Description = Q48_GP_01NOV_S1_SHAAN]

1. 1 [Option ID = 18540]
2. 2 [Option ID = 18541]
3. 3 [Option ID = 18542]
4. 4 [Option ID = 18543]
4) Read the passaze and answer questions.

The world over. leisure time has increased tremendously since World War II. In this time
period. social problems and maladies have also increased. Frustrations. nervous break-
downs. broken marriages. aleoholism and crime rates are directly related to too much time
with nothing to do. Combine this with the permissiveness that has permeated our culture
and the attitude of doing just enough to get by. and the problems are multiplied workers
often lose pride in thelr workmanship and their performance begins to go down. When
performance goes down. shoddy merchandise is produced. and shoddy Merchandise does not
find a ready market because consumers anvwhere demand quality. They turn to foreign
imports and the local producer is caught in the squeeze by lowered sales volume. Every
nation must resell the idea of performance and honest effort for an honest day’s pay. Surely
the world owes us a living. but we have to work for it. We have to reverse the philosophy of
doing little and collecting much or we will be caught in the pinch of pricing ourselves out of
quality products and services. The only plan that is going to work over the long haul is an
internal change in our philosophy. We must produce the quality merchandise people
demand. at the right price or the consumer will turn more and more to imported products.
Fortunately. we can do this. we say this without any mental reservation. because the local
worker. under controlled tests. has consistently out produced his counterparts on project
after project. Better quality means better price. Honest efforts. not higher tariffs is the
solution to the problem.
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How can we move towards quality products that people demand?

(1) Importing more and more foreign goods
(2) By working for longer hours
(3 Maintaining our existing philozophy of work

(4) Produce quality products and price them properly
(1)  sHg=ias s g F1 37EE F T |

(2) =@ TTE aF T4 F0F)

(3) I AAAH HE TR S T |

(4)  TUEATEE TS T SeAied F SR T 2= god T |

[Question ID = 4636][Question Description = Q49_GP_01NOV_S1_SHAAN]
1 [Option ID = 18544]
2 [Option ID = 18545]
3 [Option ID = 18546]
4 [Option ID = 18547]

A WN -

5) Read the passage and answer gquestions.

The world over. leisure time has increased tremendously since World War II. In this time
period. social problems and maladies have also increased. Frustrations. nervous break-
downs. broken marriages. alcoholism and crime rates are directly related to too much time
with nothing to do. Combine this with the permissiveness that has permeated our culture
and the attitude of doing just enough to get by. and the problems are multiplied workers
often lose pride in thelr workmanship and their performance begins to go down. When
performance goes down. shoddy merchandise is produced. and shoddy Merchandise does not

find a ready market because consumers anvwhere demand quality. They turn to foreign
imports and the local producer is caught in the squeeze by lowered sales volume. Every
nation must resell the idea of performance and honest effort for an honest day’'s pay. Surely
the world owes us a living. but we have to work for it. We have to reverse the philosophy of
doing little and collecting much or we will be caught in the pinch of pricing ourselves out of
quality products and services. The only plan that is going to work over the long haul is an
internal change in our philosophy. We must produce the quality merchandise people
demand. at the right price or the consumer will turn more and more to imported products.
Fortunately. we can do this. we say this without any mental reservation. because the local

worker. under controlled tests. has consistently out produced his counterparts on project
after project. Better quality means better price. Honest efforts. not higher tariffs is the

solution to the problem.
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The issue of low quality products can be addressed through :
(1) Honest workmanship

(2) Imposition of higher tariffs on imported goods

(3) Lowering the production volume

(4) Hiring of non-local workers
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[Question ID = 4637][Question Description = Q50_GP_01NOV_S1_SHAAN]
1. 1 [Option ID = 18548]
2. 2 [Option ID = 18549]
3. 3 [Option ID = 18550]
4. 4 [Option ID = 18551]






